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1. Large sample theory in applicable when 
ö£¸® ©õv›U ÷Põm£õkPÒ £¯ß£kzxÁx G¨÷£õx GÛÀ 

(A) 50≥n  (B) 100≥n  

(C) 40≥n  (D) 30≥n  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. The size of a large sample exceeds 
ö£¸® ©õv› AÀ»x ö£õ¸Ò TÖ G¢u AÍÂØS® ÷©À C¸US® 

(A) 20 (B) 30 

(C) 50 (D) 100 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

3. In statistical testing the number of independent observation in the
sample is called as 
¦ÒÎC¯À ÷\õuøÚPÎÀ öPõkUP¨£mkÒÍ TÔÀ EÒÍ \õº£ØÓ 
EÖ¨¦PÎß GsoUøP Gß£x 

(A) Distribution (B) Frequency 

 £μÁÀ  {PÌöÁs 

(C) Degree of freedom (D) Mean 
 Pmißø© TÖ  Tmk \μõ\› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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4. The mean μ  of ( )2, σμN  is called as  

\μõ\› μ ; ( )2, σμN  –––––––––– GßÖ AøÇUP¨£k®. 

(A) Scale parameter (B) Shape parameter 

 AÍÄ AÍÄ¸  ÁiÁ AÍÄ¸ 

(C) Location parameter (D) Slope parameter 
 C¸¨¤h AÍÄ¸  \õ´Ä AÍÄ¸ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

5. National sample survey office collects information for selective 
themes by using 
÷uº¢öukUP¨£mh ÷|õUP[PÐUPõP ÷u]¯ ©õv› PnUöPk¨¦ 
Aø©¨£õÚx Â£μ[PøÍ ÷\P›US® •øÓ 

(A) Schedules (B) Questionnaire 

 ÂÚõzöuõSv Â£μ¨£mi¯À  ÂÚõ&Âøh¨ £mi¯À 

(C) Mails (D) Short messages 
 Piu[PÒ  SÖ¢uPÁÀPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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6. The sampling method of selecting equal number of cases is taken
from each stratum regardless of how it represents the universe is 
•Êø©z öuõSv°ß ¤μv£¼¨ø£ PnUQÀ öPõÒÍõx AøÚzx 
vμ[PÎ¼¸¢x® \©©õÚ TÖPøÍ –––––––––– GßÖ G¨£i ÷uº¢öuk¨£x 

(A) Disproportional stratified sampling 
 ÂQu\©ÚØÓ £køP Áõ´¨¦ ©õv› 

(B) Multi-stage sampling 

 £» {ø» ©õv›   

(C) Area sampling  
 £μ¨¦U TÖ ©õv› 

(D) Sequential sampling 
 öuõhº TÖ •øÓ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. In a sampling method, when 
n
N

K = , then ''k  denotes  

J¸ ©õv› •øÓ°À 
n
N

K =  GßÓõÀ, ''k  GøuU SÔUS® 

(A) Sample size (B) Size of universe 

 ©õv›°ß AÍÄ  ÷£μshzvß AÍÄ 

(C) Sample mean (D) Sampling interval 
 ©õv›°ß \μõ\›  ©õv›°ß CøhöÁÎ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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8. The sample units are spread more evenly over the entire population
in 
©õv›°ß A»SPÒ •Êø©z öuõSv°ß AøÚzx £Sv°¾® C¸¢x 
^μõP ÷uº¢öukUP¨£k® •øÓ 

(A) Stratified sampling (B) Systematic sampling 

 £køP •øÓ ©õv›   •øÓ \õº¢u ©õv› 

(C) Quota sampling (D) Random sampling 
 JxURmk ©õv›  \©Áõ´¨¦ ©õv› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

9. In random sampling, the probability of selecting an item from the
population is 
Áõ´¨¦ ©õv›°À, ©UPÒ öuõøP°¼¸¢x H÷uÝ® JßøÓ 
÷uº¢öuk¨£uØPõÚ {PÌÄ uPÄ –––––––––– 

(A) Not known (B) Not decided 

 AÔ¯¨£hõux  •iÄ ö\´¯¨£hõux 

(C) Known (D) Zero 
 AÔ¯¨£k®  §â¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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10. A list of questions is prepared and is sent to all the informants by
post ! This method is called as 
ÂÚõ Á›ø\ u¯õ›zx u£õÀÁÈ/Ag\À ÁÈ uPÁÀ u¸£Á¸US AÝ¨¦® 
•øÓ –––––––––– GßÖ AøÇUP¨£kQÓx. 

(A) Questionnaire method (B) Mailed questionnaire 

 ÂÚõzuõÒ •øÓ  Ag\À ÁÈ ÂÚõ£mi¯À 

(C) Secondary data (D) Schedules method 
 Cμshõ® {ø» Â£μ®  ÂÚõ¨£mi¯À •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

11. In which sampling technique sampling done in several stages?  
G¢u ©õv› ~m£zvÀ £» {ø»PÎÀ ©õv› GkUP¨£kQÓx? 

(A) Cluster sampling (B) Systematic sampling 

 öPõzx TöÓk¨¦  •øÓ¯õÚ ©õv› 

(C) Quota sampling (D) Random sampling 
 JxURk ©õv›  ^μØÓ ©õv› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

12. Find out which is the not the non-probability sampling method? 
{PÌuPÄ CÀ»õu ©õv› •øÓ Gx Gß£øuU PshÔ¯Ä®? 

(A) Judgment sampling (B) Stratified sampling 

 wº©õÛzxU TöÓkzuÀ  £kUøPU TöÓkzuÀ 

(C) Quota sampling (D) Convenience sampling 
 Qøh¨¦¨ £[S TöÓkzuÀ  Á\v TöÓkzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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13. The success of an investigation depends on the construction of the 
J¸ öÁØÔPμ©õÚ Â£μ ÷\P›¨¦ Pmhø©¨¦ –––––––––– Gß£øu¨ 
ö£õ¸zux 

(A) Time duration (B) Questionnaire 

 Põ» AÍÄ  ÷PÒÂPÎß uμ® 

(C) Attractive speech (D) Efficient explanation 
 ]Ó¢u ÷£a_  vÓø©¯õÚ ÂÍUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. Which is not the limitation of a questionnaire? 
ÂÚõ&Âøh £mi¯À •øÓ°ß SøÓ£õhõPU P¸u¨£hõux 

(A) Limited application (B) Low response rate 

 Pmk¨£kzu¨£mh E£÷¯õP®  SøÓÁõÚ £v»ÎUS® Ãu® 

(C) No spontaneous response (D) More expensive 
 EhÚi £vÀPøÍ ö£Ó C¯»õø©  AvP ö\»Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. Which is true regarding systematic sampling? 
¤ßÁ¸£ÚÁØÖÒ •øÓ\õº¢u ©õv› Po¨¦ •øÓ°ß \›¯õÚ P¸zx Gx?

(A) Sample are grouped  
 ©õv›PÒ öuõSUP¨£kQßÓÚ 

(B) With the selection of first unit the second unit will be 
unknown 

 •uÀ EÖ¨¦ ÷uºÁõÚÄhß Cμshõ® EÖ¨ø£ PshÔ¯ C¯»õx  

(C) With the selection of the first unit the whole sample is selected 
automatically  

 •uÀ EÖ¨¦ ÷uºÁõÚÄhß ©õv›°ß ©ØÓ EÖ¨¦PÒ uõÚõP 
wº©õÛUP¨£kQßÓÚ 

(D) It is a whole random sampling 
 Cx J¸ •Êø©¯õÚ \©Áõ´¨¦ TöÓk¨¦   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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16. A wholesaler in apples claims that only 4% of the apples supplied by
him are defective. A random sample of 600 apples contained 36 
defective apples. Test the claim of the wholesaler. 
B¨¤Ò ö©õzu ÂØ£øÚ¯õÍº, AÁº ÁÇ[Q¯ B¨¤ÒPÎÀ 4% ©mk÷© 
SøÓ£õkÒÍuõPU TÖQÓõº. 600 B¨¤ÒPÎß ^μØÓ ©õv›°À 36 
SøÓ£õkÒÍ B¨¤ÒPÒ C¸¢uÚ. ö©õzu ÂØ£øÚ¯õÍ›ß 
E›ø©÷Põμø» ÷\õvUPÄ®. 

(A) Claim can be accepted, 4% of apples are defective  
 TØÖ HØP£h»õ®, 4% B¨¤ÒPÎÀ SøÓ£õk EÒÍx 

(B) Claim cannot be accepted 36 number of apples defective 

 TØÖ HØÖUöPõÒÍ •i¯õx, 36 B¨¤ÒPÒ SøÓ£õkÒÍøÁ  

(C) Claim can be accepted 34 number of apples defective  
 TØÖ HØP£h»õ®, 34 B¨¤ÒPÒ SøÓ£õkÒÍøÁ 

(D) Claim cannot be accepted 8% number of apples defective 
 TØÖ HØÖUöPõÒÍ •i¯õx, 8% B¨¤ÒPÎÀ SøÓ£õk EÒÍx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

17. Any statistical measure computed from population data is known as
•Êø©z öuõSv°¼¸¢x PnUQh¨£k® G¢u J¸ ¦ÒÎ Â£μ AÍøÁ²® 
GÆÁõÖ AøÇUP¨£kQÓx? 

(A) Parameter (B) Statistic 

 £s£ÍøÁ  ¦ÒÎ Â£μ® 

(C) Standard deviation (D) Standard error  
 vmh Â»UP®  vmh ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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18. National sample survey office was conducting national level large
survey since 
G¢u Bsk •uÀ ÷u]¯ ©õv› ¦ÒÎÂ£μ ÷\P›¨¦ Â\õμønPøÍ 
÷©ØöPõsk Á¸QÓx 

(A) 1960 (B) 1950 

(C) 1980 (D) 1970 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

19. When there are definite, concrete and pre-determined questions 
found in a questionnaire, then it is called as  
ÂÚõÂøh £mi¯¼À vmh Ámh©õÚ, EÖv¯õÚ, •ß wº©õÛUP¨£mh 
÷PÒÂPÒ C¸US©õÚõÀ AøÁ –––––––––– GßÖ AøÇUP¨£k® 

(A) Structured questionnaires  
 Pmhø©UP¨£mh ÂÚõÂøh¨ £mi¯À 

(B) Unstructured questionnaires 

 Pmhø©UP¨£hõu ÂÚõÂøh¨ £mi¯À   

(C) Schedules  
 ÂÚõÂ£μz öuõSv 

(D) Grouped data 
 J¸[Pø©UP¨£mh uμÄPÒ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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20. The statutory body to maintain quality standards in statistical
matters is called as  
¦ÒÎC¯À Â£μ[PÎß uμzøu £μõ©›UP E¸ÁõUP¨£mh \mh§ºÁ©õÚ 
Aø©¨¦ 

(A) Planning commission  
 vmhU SÊ 

(B) National statistical commission 

 ÷u]¯ ¦ÒÎC¯À Bøn¯®   

(C) Revenue commission  
 Á¸Áõ´ SÊ 

(D) Official statistical system 
 {ºÁõP ¦ÒÎ C¯À Aø©¨¦   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

21. Which of the following organisation is associated with development
of special Economic Zone at Krishnagiri? 
Q¸ènQ› ]Ó¨¦ ö£õ¸Íõuõμ ©sh»zvß A¤Â¸zvUPõÚ ¤ßÁ¸® 
G¢u Aø©¨¦ öuõhº¦øh¯x  

(A) GVK Industries Ltd   
 â.Â.÷P. öuõÈ»P[PÒ ¼ªöhm  

(B) GMR Infrastructures Ltd 
 â.G®.Bº. Pmhø©¨¦z öuõÈÀ ¼ªöhm 

(C) DLF  
 i.GÀ.GL¨  

(D) TIDEL Park Ltd 
 øhhÀ §[Põ ¼ªöhm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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22. In which place in Tamilnadu, ELCOT has established the
information technology parks in special Economic Zones.  
¤ßÁ¸® G¢u ChzvÀ, GÀPõm {ÖÁÚ® uPÁÀ öuõÈÀ~m£ §[PõUPøÍ 
]Ó¨¦ ö£õ¸Íõuõμ ©sh»[PÎÀ {ÖÂ²ÒÍx.  

(A) Chennai (B) Kanyakumari 

 ö\ßøÚ  PßÛ¯õS©õ› 

(C) Erode (D) Vellore  
 D÷μõk  ÷Á¿º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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23. Match the following  : 
RÌPshÁØøÓ ö£õ¸zxP : 
(a) Industrial Policy 1948  1. Iron and steel  
 öuõÈØ öPõÒøP 1948   C¸®¦ ©ØÖ® GLS 
(b) Industrial Policy 1956  2. To introduce liberalisation  
 öuõÈØ öPõÒøP 1956   uõμõÍ©¯©õUSuø»  
      AÔ•P¨£kzu¨£mhx 
(c) Industrial Policy 1991  3. Contemplated a Mixed 

Economy 
 öuõÈØ öPõÒøP 1991   P»¨¦ ö£õ¸Íõuõμ®  
      ]¢vUP¨£mhx 
(d) Large Scale Industries   4. Industries Development  
      Regulation Act  
 ÷£μÍÄ öuõÈÀPÒ    öuõÈÀ ÁÍºa]  

JÊ[S•øÓ \mh® 

 (a) (b) (c) (d) 
(A) 3 4 2 1 
(B) 1 2 3 4  
(C) 2 3 4 1 
(D) 1 4 3 2 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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24. The main objective of fifth five year plan was 
5&Áx I¢uõsk vmhzvß •UQ¯ ÷|õUP® Gx? 

(A) Removal of poverty 
 ÁÖø© JÈ¨¦ 

(B) Self-reliance in exports 
 HØÖ©v°À ußÛøÓÄ 

(C) Both (A) and (B) 

 Cμsk® (A) ©ØÖ® (B) 

(D) High production 
 AvP EØ£zv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

25. The major cause of sickness of small scale industries is  
]Ö öuõÈÀ {ÖÁÚ[PÎß öuõÈÀ |¼ÂØS •ußø©¯õÚ Põμn®  

(A) Financial problems (B) Problem of raw material  
 {v¨¤μa\øÚPÒ   ‰»¨ö£õ¸Ò ¤μa\øÚPÒ 

(C) Regulations  (D) Location  
 Pmk¨£õkPÒ  Ch Aø©Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



416–Economics 
 

16

26. Centralised planning refers to –————— 
ø©¯¨£kzu¨£mh vmhªhÀ Gß£x —————— 

(A) Complete control over economic activities   

 ö£õ¸Íõuõμ |hÁiUøPPÒ AøÚzv¾® •Ê Pmk¨£õk   

(B) Partial control over economic activities  
 ö£õ¸Íõuõμ |hÁiUøPPÒ AøÚzv¾® J¸ £Sv Pmk¨£õk 
(C) Least control over economic activities  
 ö£õ¸Íõuõμ |hÁiUøPPÒ AøÚzv¾® SøÓ¢u Pmk¨£õk  

(D) Half control over economic activities 
 ö£õ¸Íõuõμ |hÁiUøPPÒ AøÚzv¾® £õv¯ÍÄ Pmk¨£õk  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. In India the main objective of Industrial Development was
implemented during –––––––––– five year plan period.  
öuõÈÀ ÁÍºa]ø¯ •UQ¯ ÷|õUP©õPU öPõsh I¢uõskz vmh®  

(A) First plan (B) Second plan 

 •uÀ vmh®  CμshõÁx vmh® 

(C) Third plan (D) Fourth plan 
 ‰ßÓõÁx vmh®  |õßPõÁx vmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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28. The gap between two consecutive plans is called as –————— 
Akzukzu Cμsk vmh Põ»zvØQøh÷¯¯õÚ CøhöÁÎ ——————
BS®.  

(A) Plan holiday (B) Fiscal holiday 

 vmh Âk•øÓ  {v Âk•øÓ 

(C) Strategic holiday (D) Budgetary holiday 
 ²Uv \õº¢u Âk•øÓ  ÁμÄ ö\»Ä Âk•øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

29. –————— is the first state to employ differently abled in the
Mahatma Gandhi National Rural Employment Guarantee scheme. 
©Põz©õ Põ¢v ÷u]¯ FμP ÷Áø»Áõ´¨¦ EÖvz vmhzvÀ ©õØÖz 
vÓÚõÎPøÍ ÷Áø»US A©ºzx® •uÀ ©õ{»® Gx? 

(A) Kerala  (B) Tamil Nadu 

 ÷PμÍõ   uªÌ|õk 

(C) Gujarat (D) Karnataka  
 Sáμõz   Pº|õhPõ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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30. The ‘‘Inclusive growth’’ approach was emphasized during the  
‘‘EÒÍh[Q¯ ÁÍºa]’’ AÔ•P¨£kzu¨£mh vmh®  

(A) The Ninth Five Year Plan  

 Jß£uõÁx I¢uõsk vmhzvÀ  

(B) The Tenth Five Year Plan 
 £zuõÁx I¢uõsk vmhzvÀ 
(C) The Eleventh Five Year Plan  
 £v÷ÚõμõÁx I¢uõsk vmhzvÀ 

(D) The Twelfth Five Year Plan 
 £ÛöμshõÁx I¢uõsk vmhzvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. Which of the following statement(s) correct regarding objectives of
economic planning in India. 
C¢v¯ ö£õ¸Íõuõμ vmhªh¼ß ÷|õUP[PÎÀ RÌPsh TØÖPÎÀ GøÁ 
\›¯õÚøÁ? 

(1) Rapid increase in National Income. 
 Av ÂøμÁõÚ ÷u]¯ Á¸©õÚ ÁÍºa] 

(2) Rise in Saving and Investment 
 ÷\ª¨¦ ©ØÖ® •u½miÀ ÁÍºa] 

(3) Reduction in inequalities of Income 
 Á¸Áõ´ HØÓzuõÌÄPøÍ SøÓ¨£x  

(4) Reduction of private investment 
 uÛ¯õº •u½kPøÍU SøÓ¨£x  

(A) (1), (2), (3) and (4) are correct  

 (1), (2), (3) ©ØÖ® (4) \›¯õÚøÁ 

(B) (1), (2) and (3) are correct 
 (1), (2) ©ØÖ® (3) \›¯õÚøÁ 
(C) (2), (3) and (4) are correct  
 (2), (3) ©ØÖ® (4) \›¯õÚøÁ  

(D) (3) and (4) are correct 
 (3) ©ØÖ® (4) \›¯õÚøÁ 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. Assertion [A] : Green revolution is limited in its spatial coverage
in India. 

TØÖ [A] :    C¢v¯õÂÀ £_ø©¨¦μm]z vmh® Auß ]»
Ch[PÐUS ©mk©õP Áøμ¯ÖUP¨£mhx.  

Reason [R] :  Green revolution is confined to five crops only. 

Põμn® [R] :  SÔ¨¤mh I¢x £°ºPÐUS ©mk÷© £_ø©¨¦μm]
AÔ•P¨£mhx.  

(A)  [A] is correct but [R] is incorrect 

 [A] \› BÚõÀ [R] uÁÖ 

(B) Both [A] and [R] are correct [R] is the correct explanation 
of [A] 

 [A]²® [R]® \› [R] Gß£x [A] US \›¯õÚ ÂÍUP©õS® 

(C) [A] is incorrect but [R] is correct  

 [A] uÁÖ BÚõÀ [R] \› 

(D) Both [A] and [R] are correct but [R] is not the correct 
explanation of [A] 

 [A] ²®, [R]® \› BÚõÀ [R] Gß£x [A] US \›¯õÚ Põμn® AÀ» 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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33. Components of PQLI are : 
PQLI &Cß TÖPÒ 

(1) Morbidity  
 ÷|õ²ØÓ ußø© 

(2) Infant mortality  
 SÇ¢øu CÓ¨¦ 

(3) Life expectancy at age one  
 J¸ Á¯vÀ B²mPõ»® 

(4) Basic literacy at age 15 

 15 Á¯vÀ Ai¨£øh PÀÂ¯ÔÄ  

(A) (1), (3) and (4) are correct (B) (3), (2) and (4) are correct 

 (1), (3) ©ØÖ® (4) \›¯õÚøÁ  (3), (2) ©ØÖ® (4) \›¯õÚøÁ 

(C) (1), (2) and (3) are correct (D) All are correct 
 (1), (2) ©ØÖ® (3) \›¯õÚøÁ  AøÚzx® \›¯õÚøÁ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

34. In agriculture the term ‘Fragmentation refers to’:  
÷ÁÍõsø©°À {» ]uÓÀPÒ GßÓ ö\õÀ SÔ¨¤kÁx, 

(A) Scattered land holdings   

 ]uÓ»õÚ {» E›ø©   

(B) Further division of land into small units  
 ]Ö xskPÍõP {»® ÷©¾® ¤›Ä£kuÀ  
(C) Land which is not used for cultivation  
 {»® £°›ku¾US £¯ß£hõø©   

(D) Land which is not fit for cultivation   
 {»® £°›ku¾US ö£õ¸zu©ØÓuõ´ C¸zuÀ 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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35. In India, Green Revolution was introduced in –————— 
G¢u BsiÀ, £_ø©¨ ¦μm] C¢v¯õÂÀ AÔ•P¨£kzu¨£mhx? 

(A) 1966 (B) 1977 

(C) 1955 (D) 1944 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

36. Which aims at creating more optimum sized land holdings? 
Gx EP¢u AÍÄ {» Eøhø©ø¯ E¸ÁõUSÁøu ÷|õUP©õPU 
öPõskÒÍx? 

(A) Land holders liberty  (B) Limit holdings  
 {»® øÁzv¸¨£ÁºPÒ _u¢vμ®  Pmk¨£õmk {» Eøhø© 

(C) Ceiling on land holding  (D) Ownership holding  
 {» Ea\Áμ®¦   {» E›ø© øÁzv¸¨£x  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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37. Identify the major issues of development in Indian Economy from
the given list and choose the correct answer from the codes given
below. 
öPõkUP¨£mh £mi¯¼À C¸¢x C¢v¯¨ ö£õ¸Íõuõμzvß ÁÍºa]°ß 
•UQ¯ ]UPÀPøÍU PshÔ¢x, R÷Ç öPõkUP¨£mkÒÍ SÔ±kPÎÀ 
C¸¢x \›¯õÚ £vø»z ÷uº¢öukUPÄ®. 

(1) Problem of unemployment 
 ÷Áø»Áõ´¤ßø© ¤μa\øÚPÒ 

(2) Problem due to FDI 

 FDI &BÀ EshõS® ¤μa\øÚPÒ 

(3) Instability of output of agriculture and related sectors 
 {ø»¯ØÓ ÷ÁÍõsø© EØ£zv ©ØÖ® Ax \õº¢u xøÓPÒ 

(4) Share of youth in population growth 
  AvP›zx Á¸® ©UPÒ öuõøP ÁÍºa]°À CøÍbºPÎß 

GsoUøP  

(A) (1), (3) and (4) (B) (2), (3) and (4) 

 (1), (3) ©ØÖ® (4)  (2), (3) ©ØÖ® (4) 

(C) (2) and (4) (D) (1) and (3) 
 (2) ©ØÖ® (4)  (1) ©ØÖ® (3) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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38. Assertion [A] : High birth rate is not causes of growth of
population. 

TØÖ [A] :    AvP ¤Ó¨¦ ÂQu® ©UPÒ öuõøP ÁÍºa]US Põμn®
AÀ». 

Reason [R] :  Increasing death rate leads population growth. 

Põμn® [R] :  AvP CÓ¨¦ ÂQu® ©UPÒ öuõøP ÁÍºa]US
ÁÈÁSUQÓx.  

(A)  Both [A] and [R] are true 

 [A] ©ØÖ® [R] Cμsk® \› 

(B) [A] is false but [R] is true 

 [A] uÁÖ BÚõÀ [R] \› 

(C) [A] is true but [R] is false 

 [A] \› BÚõÀ [R] uÁÖ 

(D) Both [A] and [R] are false 

 [A] ©ØÖ® [R] Cμsk® uÁÖ 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 

39. While Nehru supported heavy industries, Gandhiji insisted to
develop this type of industries.  
ö£›¯ öuõÈØ\õø»PÒ Aø©Áøu ÷|¸ Bu›zu ÷ÁøÍ°À, Põ¢v 
CÆÁøP¯õÚ öuõÈÀPøÍ ÁØ¦ÖzvÚõº.  

(A) Small-scale industries (B) Medium-scale industries 

 ]Ö öuõÈÀPÒ  |kzuμ öuõÈÀPÒ 

(C) Micro industries (D) Cottage industries 
 ~s öuõÈÀPÒ  Siø\z öuõÈÀPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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40. Consider the following statements.  
¤ßÁ¸® AÔUøPPøÍU PÁÛ²[PÒ : 

(1) Economic growth is known as long term economic process.  
 ö£õ¸Íõuõμ ÁÍºa] }shPõ» ö£õ¸Íõuõμ ö\¯À•øÓ GßÖ 

AÔ¯¨£kQÓx  

(2) Economic growth is a micro-economic policy. 
 ö£õ¸Íõuõμ ÁÍºa] Gß£x J¸ ~sö£õ¸ÍõuõμU öPõÒøP  

(3) Economic growth is a macro-economic policy. 
 ö£õ¸Íõuõμ ÁÍºa] Gß£x ÷£›¯À ö£õ¸ÍõuõμU öPõÒøP  

(4) Economic growth is a short-term policy. 
 ö£õ¸Íõuõμ ÁÍºa] Gß£x J¸ SÖQ¯ Põ» öPõÒøP 

(A) (1) alone is correct (B) (1) and (2) are correct 

 (1) ©mk® \›¯õÚøÁ  (1) ©ØÖ® (2) \›¯õÚøÁ 

(C) (1) and (3) are correct (D) All are correct 
 (1) ©ØÖ® (3) \›¯õÚøÁ  AøÚzx® \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. This is the indicator of —————— health. 
Cx J¸ B÷μõUQ¯® _mk® Põμo BS®. 

(A) birth  

 ¤Ó¨¦  

(B) death 
 CÓ¨¦ 

(C) birth and death  
 ¤Ó¨¦® CÓ¨¦®  

(D) life expectancy at birth 
 ¤Ó¨¤ß ÁõÌ|õÒ Põ»® (\μõ\› ÁõÊ® Á¯x) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. Capital accumulation is caused by 
‰»uÚzvμm] Cuß PõμnzuõÀ E¸ÁõQÓx 

(A) increase of capital stock 
 ‰»uÚ C¸¨¦ AvP›zuÀ 

(B) increase of savings stock  
 ÷\ª¨¦ C¸¨¦ AvP›zuÀ 

(C) increase of income stock 
 Á¸Áõ´ C¸¨¦ AvP›zuÀ 

(D) increase of input stock  
 EÒÏmk C¸¨¦ AvP›zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. Economic growth refers to 
ö£õ¸Íõuõμ ÁÍºa] Gß£x —————— £ØÔ SÔ¨£uõS®. 

(A) developed countries 
 ÁÍº¢xÂmh |õkPøÍ¨ 

(B) under-developed countries 
 ¤ßu[Q¯ |õkPøÍ¨ 

(C) non-developed countries 
 ÁÍμõu |õkPøÍ¨ 

(D) semi-developed countries 
 £õv¯ÍÄ ÁÍº¢u |õkPøÍ¨ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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44. Which of the following facts are true regarding public finance? 
RÌPshÁØÖÒ ö£õx {v \®£¢u¨£mh TØÖPÎÀ Gx Esø©¯õÚx? 
(a) Zero based budgeting 1. Peter A. Phyrr  
 §äâ¯ Ai¨£øh°»õÚ ÁμÄ   

 ö\»Äz vmh®  ¥mhº A. £¯º 
(b) Canons of Taxation 2. Adam Smith  
 Á›Âv¨¦ öPõÒøPPÒ  Bh® ìªz 
(c) Maximum Social Advantage Theory 3. Musgrave  
 \•uõ¯ Ea\ |ßø© ÷Põm£õk  ©ìQ÷μÆ 
(d) Balanced budget 4. Classicists  
 \©{ø» ÁμÄ ö\»Ä vmh®  öuõßø© ö£õ¸Î¯À  
    AÔbºPÒ 

 (a) (b) (c) (d) 
(A) 2 3 1 4 
(B) 1 2 3 4  
(C) 3 4 1 2 
(D) 4 3 2 1 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

45. Who says that the budget is the master financial plan of a
Government? 
“J¸ Aμ]ß ªP¨ö£›¯ {vzvmh Áøμ÷Á {v{ø» AÔUøP” GßÓ 
P¸zøu TÔ¯Áº ¯õº? 

(A) Gladstone (B) Bastable 

 QÍõmì÷hõß  ÷£ìh¦Ò 

(C) Taylor (D) Dalton 
 öh´»º  hõÀhß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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46. What does economic and functional classification of Government
transactions provide?  
ö£õ¸Íõuõμ ©ØÖ® £oPÒ \õº¢u Aμ]ß £›©õØÓ ÁøP¯õÚx GuøÚ 
ÁÇ[SQÓx? 

(A) Micro-economic data (B) Macro-economic data 

 ~soÚ ¦ÒÎÂÁμzøu   ÷£›n ¦ÒÎÂÁμzøu 

(C) Fiscal data (D) Social data 
 {v ¦ÒÎÂÁμzøu  \‰P ¦ÒÎÂÁμzøu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. Find out the incorrectly paired concepts 
RÌUPshÁØÖÒ Gx uÁÓõP¨ ö£õ¸zu¨£mkÒÍx Gß£øu PshÔ¯Ä®. 

(A) Sinking fund – Methods of debt repayment 
 Phß PÈÄ {v – ö£õx Phß wºÄ •øÓ 

(B) Surplus Budget – Government Revenue > Government 
  expenditure 

 Ga\ ÁμÄ ö\»Ä   

 vmh® – Aμ]ß Á¸Áõ´ > Aμ]ß ö\»Ä 

(C) Deficit Budget – Government Revenue < Government  
 expenditure 

 £ØÓõUSøÓ ÁμÄ   

 ö\»Ä vmh® – Aμ]ß Á¸Áõ´ < Aμ]ß ö\»Ä 

(D) Incidence of tax – Initial burden of the tax 
 Á› {ø»¨£õk – •u¼À Á›a_ø© HØÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. Assertion [A] : Budget is the estimates of anticipated revenue and
proposed expenditures for the budget period. 

TØÖ [A] : ÁμÄ ö\»Ä vmh® Gß£x Gvº£õºUP¨£k® Á¸Áõ´
©ØÖ® vmhªh¨£mh ö£õxa ö\»Ä £ØÔ¯ ©v¨¥k 

Reason [R] : It is a financial blue print. 
Põμn® [R] : Cx {v {ø» £ØÔ¯ Áøμ£h® ÷£õßÖ EÒÍx. 

(A) [A] is true, [R] is false 
 [A] \›, [R] uÁÖ 

(B) Both [A] and [R] are true, and [R] is not the correct 
explanation of [A] 

 [A] ©ØÖ® [R] Cμsk® \›, ÷©¾® [R] Gß£x [A]ÂØS \›¯õÚ 
ÂÍUP©À» 

(C) [A] is false, [R] is true 
 [A] uÁÖ, [R] \› 

(D) Both [A] and [R] are true, and [R] is the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \›, ÷©¾® [R] Gß£x [A]ÂØS \›¯õÚ 
ÂÍUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. Which Management is responsible to maintain economic stability? 
ö£õ¸Íõuõμ (ìvμ ußø©ø¯ (or), EÖv ußø©ø¯) £μõ©›UP G¢u 
÷©»õsø© ö£õÖ¨£õQÓx? 

(A) Cost Management (B) Revenue Management 

 ö\»Ä ÷©»õsø©  ÁμÄ ÷©»õsø© 

(C) Debt Management (D) Investment Management 
 Phß ÷©»õsø©  •u½mk ÷©»õsø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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50. The process by which the maturing bonds are replaced by new bonds
is called as 
•vºÄ £zvμ[PøÍ «sk® ¦v¯ £zvμ[PÍõP ©õØÖ® •øÓ GÆÁõÖ 
AøÇUP¨£kQÓx? 

(A) Sinking fund (B) Refunding 

 ‰ÌS® {v  ©Ö{v¯õUP® 

(C) Consolidated fund (D) capital levy 
 öuõS¨¦ {v  ‰»uÚ Á› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

51. Incidence of Tax means 
Á› {ø»¨£õk Gß£x 

(A) Actual tax burden (B) Indirect monetary burden 

 Esø©¯õÚ Á›a_ø©  ©øÓ•P £na_ø© 

(C) Direct monetary burden (D) Initial tax burden 
 ÷|μi¯õÚ £na_ø©  Bμ®£ Á›a_ø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

52. Who legally pays the tax, must bear it ; it is a 
\mh¨§ºÁ©õP Á› ö\¾zx£Áº, Aøua _©UP ÷Ásk® ; Ax? 

(A) Indirect tax (B) Direct tax 

 ©øÓ•P Á›  ÷|μi Á› 

(C) Gift tax (D) Wealth tax 
 Aß£Î¨¦ Á›  ö\ÀÁ Á› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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53. —————— is a compulsory payment to the Government. 
RÌUPshÁØÖÒ G¢u JßÖ Aμ_USU Pmhõ¯©õPa ö\¾zxÁx? 

(A) Grant (B) Fees 

 ©õÛ¯®  Pmhn[PÒ 

(C) Price (D) Tax 
 Âø»  Á› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

54. In which year, the GST council was created by the Government to
make recommendations to the Union and States on various issues
related to GST? 
â.Gì.i. öuõhº£õÚ £À÷ÁÖ Âå¯[PÎÀ ³Û¯ß ©ØÖ® ©õ{»[PÐUS 
]£õ›_ ö\´¯ â.Gì.i. PÄß]À G¢u BsiÀ E¸ÁõUP¨£mhx? 

(A) 2015 (B) 2014 

(C) 2016 (D) 2017 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

55. Which of the following is not an administrative revenue? 
¤ßÁ¸£ÚÁØÖÒ Gx {ºÁõP Á¸Áõ°Ú® Qøh¯õx? 

(A) Fees (B) Licence fees 

 Pmhn[PÒ  E›©® Pmhn[PÒ 

(C) Taxes (D) Special assessment 
 Á›PÒ  ]Ó¨¦ wºøÁPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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56. Tax is a compulsory payment while price is paid by the person who 
—————— the goods and services given by the Government. 
Á› Gß£x J¸ Pmhõ¯ ö\¾zxøP GßÓ A÷u ÷ÁøÍ°À, Âø» Gß£x, 
Aμ_ ÁÇ[S® £sh[PøÍ ©ØÖ® £oPøÍ —————— |£ºPÒ 
Aμ_US AÎ¨£uõS®. 

(A) Consumes (B) Purchases 

 ~PºÄ ö\´QÓ  Áõ[SQßÓ 

(C) Produce (D) Desire 
 EØ£zv ö\´QÓ  Â¸®¦QÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

57. Taxes are compulsory payments to 
Á›PÒ Gß£x CÁØÖUPõÚ Pmhõ¯ ö\¾zxøP¯õS® 

(A) State Government  

 ©õ{» Aμ_  

(B) Central Government 
 ©zv¯ Aμ_ 

(C) Local Government  
 FμP Aμ_ 

(D) Both State and Central Government 
 ©zv¯ ©ØÖ® ©õ{» Aμ\õ[P® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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58. Expenditure which does not result in creation of assets is termed as
RÌUPshÁØÖÒ ö\õzxUPøÍ E¸ÁõUPõu ö\»ÂÚ® 

(A) Development Expenditure (B) Capital Expenditure 

 ÁÍºa]UPõÚ ö\»ÂÚ®  ‰»uÚa ö\»ÂÚ® 

(C) Plan Expenditure (D) Revenue Expenditure 
 vmha ö\»ÂÚ®  Á¸Áõ´a ö\»ÂÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

59. Which one of these is not the source of external debt? 
RÌÁ¸ÁÚÁØÖÒ JßÖ Aμ]ß ö£õxU PhÝUPõÚ ¦Ó Buõμ©õ´ CÀø»?

(A) Foreign Governments (B) Foreign national 

 öÁÎ|õmhμ_PÒ  öÁÎ|õmhÁºPÒ 

(C) International Institutions  (D) People of the same country 
 £ßÚõmk {ÖÁÚ[PÒ  A¢|õmiß ©UPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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60. Which one of the following is not one of the reasons for growth of
Public expenditure? 
ö£õxa ö\»Ä AvP›¨£vÀ, RÌÁ¸ÁÚÁØÖÒ Gx Põμn[PÎÀ JßÓõP 
CÀø»? 

(A) Increase in the activities of the State 
 Aμ_PÎß |hÁiUøP ö£¸UP® 

(B) Social security measures 
 \‰P £õxPõ¨¦ |hÁiUøPPÒ 

(C) Industrial development 
 öuõÈÀ ÁÍºa] 

(D) Increasing human desire 
 ©Ûu Â¸¨£[PÒ AvP›¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. The principle of maximum social advantage is associated with  
AvP£m\ \‰P |»U öPõÒøP ¯õ¸hß öuõhº¦øh¯x. 

(A) Hicks (B) Dalton 

 îUì  hõÀhß 

(C) Seligman (D) Musgrave 
 ö\¼U÷©ß  ©ìQ÷μÆ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. How many layers are there in Indian federation? 
C¢v¯ Tmhμ]À GzuøÚ AkUSPÒ EÒÍÚ? 

(A) One (B) Two 

 JßÖ  Cμsk 

(C) Three (D) Four 
 ‰ßÖ  |õßS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. Public finance is a study of financial activities of the  
ö£õx {v Gß£x –––––––––– Eøh¯ {v ÂÁPõμ[PÒ £ØÔ¯ £i¨£õS®. 

(A) Stock market authorities   

 £[S \¢øu AvPõ›PÒ  

(B) Public Works Department (PWD) 
 ö£õx £o xøÓ 
(C) Government  
 Aμ\õ[P®  

(D) Banking authorities 
 Á[Q AvPõ›PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. The merit of direct tax is  
÷|μi Á›°ß |ßø© –––––––––– BS®. 

(A) Suitable to depression  

 ©¢u Põ»zvØS HØÓx  

(B) Shifting of tax 
 Á›¦μmkuÀ 

(C) Elastic  
 ö|QÌÄ ußø©²øh¯x 

(D) Leaves higher income group 
 AvP Á¸Áõ´ ¤›ÂÚøμ uÂºzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. Which one is not one of the characteristics of Tax? 
RÌÁ¸ÁÚÁØÖÒ Gx Á›°ß C¯À¦PÎÀ JßÓõP CÀø»? 

(A) Tax is compulsory payment  

 Á› J¸ Pmhõ¯ ö\¾zxøP 

(B) Tax is paid without expecting benefit  
 GÆÂu ¤μv£»øÚ²® Gvº£õμõ©À Á› ö\¾zu¨£kQÓx 
(C) No one can evade from paying tax   
 Á› ö\¾zxÁv¼¸¢x J¸Á¸® u¨¤UP C¯»õx  

(D) Tax is donated by the citizens to the government 
 Á› Gß£x Aμ_US Auß Si©UPÒ ÁÇ[S® |ßöPõøh¯õS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. Assertion [A] : Commercial banks act as intermediaries between
those who have surplus money and those who need
it. 

TØÖ [A]   :  ÁoP Á[QPÒ £n® AvP® øÁzxÒÍÁ¸US®, £nz
÷uøÁ EÒÍÁ¸US® |kÁμõP ö\¯À£kQÓx.  

Reason [R]  : To Receive deposits and advance loans are the two
main functions of all commercial banks. 

Põμn® [R]  : øÁ¨¦z öuõøPø¯¨ ö£ÖÁx® Phß ÁÇ[SÁx® 
ÁoP Á[QPÎß Cμsk •UQ¯ £oPÍõQÓx. 

(A) [A] is true, [R] is false 

 [A] \›, [R] uÁÖ 

(B) Both [A] and [R] are true, [R] is the correct explanation of [A] 

 [A] ©ØÖ® [R] Cμsk® \›, [R] Gß£x [A] ÂØS \›¯õÚ ÂÍUP® 

(C) [A] is false, [R] is true 

 [A] uÁÖ [R] \› 

(D) Both [A] and [R] are true, [R] is not the correct explanation of 
[A] 

 [A] ©ØÖ® [R] Cμsk® \›, [R] Gß£x [A] ÂØS \›¯õÚ ÂÍUP©À» 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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67. The RBI can increase the money supply in the market by 
ø©¯ Á[Q –––––––––– ‰»® \¢øu°¾ÒÍ £n AÎ¨ø£ AvP›UP 
•i²®. 

(A) Selling government securities  

 Aμ\õ[P £zvμ[PøÍ ÂØ¨£x 

(B) Buying government securities 
 Aμ\õ[P £zvμ[PøÍ Áõ[SÁx 

(C) Borrowing money from commercial banks  
 ÁoP Á[QPÎhª¸¢x Phß ö£ÖÁx 

(D) Lending money from commercial banks 
 ÁoP Á[QPÐUS £n® AÎ¨£x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. As per law, all commercial banks should required to keep certain
percentage and liabilities in the Central Bank known as  
\mh¨£i, AøÚzx ÁøP Á[QPÐ® ø©¯ Á[QPÒ SÔ¨¤mh AÍÄ 
øÁ¨¦PøÍ øÁzv¸UP ÷Ásk® AuØS ö£¯º 

(A) Bills of exchange (B) Required Reserve Ratio 

 ©õØÖ Esi¯ÀPÒ  SøÓ¢u £m\ C¸¨¦ ÂQu® 

(C) Treasury Bills (D) Bills 
 P¸Å» Esi¯ÀPÒ  EsiPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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69. RBI can decrease money supply in the market by 
›\ºÆ Á[Q –––––––––– ‰»® \¢øu°¾ÒÍ £n AÎ¨ø£ SøÓUP •i²®.

(A) Selling government securities  

 Aμ\õ[P £zvμ[PøÍ ÂØ£x ‰»®  

(B) Buying government securities 
 Aμ\õ[P £zvμ[PøÍ Áõ[SÁuß ‰»® 

(C) Borrowing money from commercial banks  
 ÁoP Á[QPÎhª¸¢x Phß ö£ÖÁuß ‰»®   

(D) Lending money to commercial banks 
 ÁoP Á[QPÐUS £n® öPõk¨£uß ‰»® 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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70. Match the following  : 
ö£õ¸zxP : 

 Item I   Item II 

 £mi¯À I   £mi¯À II 
(a) Money market  1. 1980  
 £na \¢øu    1980 
(b) Capital market  2. Peter A. Pyhrr  
 ‰»uÚ \¢øu    ¥mhº. H. ø£¯º 
(c) Zero based budgeting 3. Bill of exchange 
 §äâ¯ ÁμÄ ö\»Ä vmh®  ©õØÖ ^mk 
(d) Monetary policy  4. Debt management 
 £nU öPõÒøP    Phß ÷©»õsø© 

    5. Shares and debentures 
     £[SPÒ ©ØÖ® Phß £zvμ[PÒ 

 (a) (b) (c) (d) 
(A) 3 5 2 4    
(B) 5 3 2 1     
(C) 4 2 5 3    
(D) 5 4 3 2    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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71. –––––––––– is an important segment of the money market where
borrowing and lending of funds take place on over night basis. 
–––––––––– Gß£x £n \¢øu°À •UQ¯©õÚ £Sv BS®. AvÀ Phß 
ö£ÖÁx ©ØÖ® ÁÇ[SÁx J÷μ |õÎÀ |øhö£ÖQÓx. 

(A) Open market operations  

 vÓ¢u \¢øu |hÁiUøPPÒ  

(B) Liquidity adjustment facility 
 }ºø© ußø© £n¨¦ÇUP \›ö\´uÀ Á\v 

(C) Call money market  
 AøÇ¨¦ £na \¢øu  

(D) Market stabilisation scheme 
 \¢øu EÖv¨£kzuÀ vmh® 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

72. According to milton Friedman the Quantity theory of money is
primarily a 
ªÀhß ¤›k÷©Ûß TØÖ¨£i £n AÍÄ ÷Põm£õk •ußø©¯õP  

(A) Theory of determination of real output  
 Esø© EØ£zvø¯ wº©õÛUS® ÷Põm£õk  

(B) Theory of determination of the price level 
 Âø» AÍøÁ {ºn°US® ÷Põm£õk 

(C) Theory of the demand for money  
 £n ÷uøÁUPõÚ ÷Põm£õk   

(D) Theory of natural rate of unemployment 
 C¯ØøP ÷Áø»°ßø©UPõÚ ÷Põm£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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73. ‘‘Money is a temporary abode of purchasing power’’ This was given 
by 
‘‘£n® Áõ[S® vÓÛß uØPõ¼P ¦P¼h®’’ GßÖ –––––––––– Gß£μõÀ 
öPõkUP¨£mhx. 

(A) Keynes (B) Fisher 

 Rßì  ¤åº 

(C) Frideman (D) Pigou 
 ¤øμk÷©ß  ¤S 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. Increasing or lowering government spending is  
Aμ]ß ö\»ÂÚ[PÒ AvP›¨£x AÀ»x SøÓÁx 

(A) Used to control bank deposits  

 Á[Q øÁ¨¦PøÍ Pmk¨£kzu £¯ß£kQÓx  

(B) Used to control demand for money 
 £nz ÷uøÁø¯ Pmk¨£kzu £¯ß£kQÓx 

(C) Used to control money supply  
 £n AÎ¨ø£ Pmk¨£kzu £¯ß£k®  

(D) All of the above 
 ÷©÷» TÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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75. Which one of the following is an example of unregulated non-bank 
financial intermediary? 
¤ßÁ¸ÁÚÁØÔÀ KßÖ Pmk¨£kzu¨£hõu Á[Q \õμõ {v CøhzuμQ°ß 
Euõμn® BS® 

(A) Co-operative Banks (B) Private Banks 

 TmkÓÄ Á[QPÒ  uÛ¯õº Á[QPÒ 

(C) Insurance companies (D) Chit Funds 
 Põ¨¥mk {ÖÁÚ[PÒ  ]mk {v 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. From the group of economists given below select which group of
economists created – cash balance approach 
¤ßÁ¸® ö£õ¸Íõuõμ AÔbºPÐÒ öμõUP C¸¨¦ \©ß£õmøhU TÔ¯ 
ö£õ¸Íõuõμ AÔbºPÒ ¯õÁº? 

(A) Adam Smith J.B. Say, J.S. Mill Ricardo   

 Bh®ìªz, ÷á.¤.÷\, ÷á.Gì.ªÀ ›UPõº÷hõ   

(B) Joan Robbins, Milton Frideman, Walker Crowther  
 ÷áõßμõ¤ßì, ªÀhß ¤øμk÷©ß, ÁõUPº QöμÍuº 

(C) Marshall, Pigou, Robert Son, J.M. Keynes  
 ©õºåÀ, ¤S, μõ£ºm\ß,  ÷á.G®. RÛì   

(D) J.R. Hicks, RJD. Allen, Peter Ducker, Prof. Knight 
 ÷á.Bº.îUì, Bº.öá.i.B»ß, ¥mhº hUPº, ÷£μõ.ø|m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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77. The value of money is mainly determined by 
£nzvß ©v¨ø£ wº©õÛ¨£vÀ •UQ¯ £[S ÁQ¨£x 

(A) Supply of money (B) Demand for money 

 £nzvß AÎ¨¦  £nzvß ÷uøÁ 

(C) Price level (D) All of the above 
 Âø» AÍÄ  ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

78. Match the following  : 
RÌUPshÁØøÓ¨ ö£õ¸zxP : 
(a) Fisher’s quantity  1. P = KR/ M    
 theory of money 
 L¤å›ß £n   P = KR/ M  
 AÍÄ ÷Põm£õk 
(b) Marshall’s equation 2. MV = PT 
 ©õºå¼ß \©ß£õk   MV = PT 
(c) Pigou’s equation  3. n = pK 
 ¤SÂß \©ß£õk   n = pK 
(d) Keyne’s equation  4. M = kPy 
 Rßêß \©ß£õk   M = kPy 

 (a) (b) (c) (d) 
(A) 2 4 1 3    
(B) 2 1 4 3     
(C) 3 1 2 4    
(D) 4 1 3 2     
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. ‘‘Money is what money does’’– This is viewed by 
£n® GßÚöÁÀ»õ® ö\´QÓ÷uõ Aøu÷¯ £n® GÚ öPõÒÍ»õ® 

(A) Lloyd Metzler (B) Irving fisher 

 À»õ´k ö©mì»º  CºÂ[ ¤åº 

(C) Hartley Withers (D) J.M. Keynes 
 íõº÷» Âzuºì  ÷á.G®. Rßì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. Value of money and supply of money are –––––––––– related. 
£nzvß ©v¨¦ ©ØÖ® £n AÎ¨¦ –––––––––– öuõhº¦øh¯øÁ. 

(A) Inversely (B) Directly 

 Gvº©øÓ¯õÚ  ÷|μi¯õP 

(C) Not related (D) Neutral 
 G¢u öuõhº¦® CÀø»  |k{ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

81. Speculative demand for many depends upon 
£nzvØPõÚ FP ÷uøÁ –––––––––– ø¯ \õº¢ux. 

(A) Income (B) Investment  
 Á¸©õÚ®  •u½k 

(C) Rate of Interest (D) Value of money 
 Ámi ÂQu®  £n ©v¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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82. Who severely criticised Patinkin’s analysis of the real balance effect?
÷£mißPÛß Esø© C¸¨¦ ÂøÍÄ ÷Põm£õmøh wÂμ©õP Â©º]zuÁº

(A) Archibald and Lipsey (B) Johnson 

 Bºâ£õÀk ©ØÖ® ¼¨÷\  áõß\ß 

(C) Lloyd (D) All of the above  
 À»õ´k  ÷©÷» TÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. “Value of money means” 
“£nzvß ©v¨¦” – Gß£x 

(A) Demand for money (B) Supply of money 

 £nzvØPõÚ ÷uøÁ  £nzvØPõÚ AÎ¨¦ 

(C) Purchasing power of money (D) Rate of interest  
 £nzvØPõÚ Áõ[S® vÓß  Ámi ÂQu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. Paper money which is circulated by the authority of the government
is  
Aμ\õ[PzuõÀ ¦ÇUPzvÀ Âh¨£k® PõQu¨£n® –––––––––– GßÖ 
AøÇUP¨£kQÓx. 

(A) Dear money (B) Near money 

 A¸ø© £n®  A¸Põø© £n® 

(C) Fiat money (D) Credit money 
 J¨¦Öv AÎUP¨£mh £n®  Phß £n® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. Ricardian theory of Rent was assumes  
›UPõº÷hõÂß ÁõμU ÷Põm£õk P¸x÷PõÍõP C¸¨£x 

(A) Imperfect competition (B) Monopoly competition 

 {øÓ SøÓ¨ ÷£õmi  •ØÖ›ø© ÷£õmi 

(C) Monopolistic competition (D) Perfect competition 
 HP÷£õP •ØÖ›ø©  {øÓÄ¨÷£õmi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. Quasi rent means 
÷£õ¼ Áõμ® Gß£x 

(A) Total Revenue Earned – Total Variable cost  
 ö©õzu Á¸Áõ´ – ö©õzu ©õÖ® ö\»Ä  

(B) Total Revenue Earned – Total Fixed cost   

 ö©õzu Á¸Áõ´ – ö©õzu {ø»¯õÚ ö\»Ä   

(C) Total Revenue Earned – Total Average cost 
 ö©õzu Á¸Áõ´ – ö©õzu \μõ\› ö\»Ä    

(D) Total Revenue Earned + Average Fixed cost   
 ö©õzu Á¸Áõ´ + \μõ\› {ø»¯õÚ ö\»Ä  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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87. The theory of monopolistic competition is given by 
•ØÖ›ø© ÷£õmi ÷Põm£õmiøÚ E¸ÁõUQ¯Áº 

(A) E.H. Chamberlin (B) Mrs. Joan Robinson  

 E.H. ÷\®£º¼ß  v¸©v. ÷áõß μõ¤ß\ß 

(C) Robert son (D) Sweezy 
 μõ£ºm\ß  _Âìê 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

88. Seller can charge different prices from different buyers for the same 
good is called as  
ÂØ£øÚ¯õÍº J÷μ ©õv›¯õÚ ö£õ¸ÒPÐUS ÷ÁÖ£mh 
Áõ[S£Á›hª¸¢x ÷ÁÖ£mh Âø»°À ÂØ£øÚ ö\´Áx ––––––––––
GßÖ AøÇUP¨£kQÓx 

(A) perfect competition (B) pure competition 

 {øÓÄ ÷£õmi  y¯ ÷£õmi 

(C) price discrimination (D) value of commodity  
 Âø» ÷£u®  ö£õ¸mPÎß ©v¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. Total cost + Profit = –––––––––––? 
ö©õzu ö\»Ä + »õ£® = –––––––––––? 

(A) Price (B) Cost  
 Âø»  AhUP ö\»Ä 

(C) Income (D) Expenditure  
 Á¸Áõ´  ö\»Ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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90. The supply is absolutely inelastic in  
AÎ¨¦ •ØÔ¾® ö|QÌ]¯ØÓx EÒÍ Põμo 

(A) Land (B) Labour  
 {»®  EøÇ¨¦ 

(C) Capital (D) Organisation 
 •uÀ  Aø©¨£õØÓõÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. The ISO – Cost line shows  
\©{ø» ö\»Ä ÷Põk öu›Â¨£x 

(A) The price of the two factors  
 Cμsk PõμoPÎß Âø» 

(B) The total outlay of the firm 

 {ÖÁÚzvß ö©õzu ö\»Ä 

(C) The price of two factors and total outlay of the firm  
 Cμsk PõμoPÎß Âø» ©ØÖ® {ÖÁÚzvß ö©õzu ö\»Ä 

(D) The price of the one factors 
 J¸ Põμo°ß Âø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

92. Firms are ––––––––––– of production. 
{ÖÁÚ[PÒ EØ£zv°ß  

(A) agents (B) owners 

 •PÁºPÒ  E›ø©¯õÍºPÒ 

(C) makers (D) sellers 
 ö\´£ÁºPÒ  ÂØ£ÁºPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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93. The Iso quant slopes downwards from 
\© EØ£zv ÁøÍ÷Põk G[Q¸¢x \›QßÓx 

(A) ‘Y’ axis (B) Origin 

 ‘Y’ Aa_  ÷uõØÓ® 

(C) Right to Left (D) Left to Right  
 Á»x ¦Ó® C¸¢x Chx ¦Ó®  Chx ¦Ó® C¸¢x Á»x ¦Ó® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. Identify the correct statement 
\›¯õÚ TØøÓ SÔ¨¤kP 

(A) Decreasing returns to scale occur when output increases in a 
smaller proportion with an increase in all inputs  

 SøÓ¢u ö\À AÍøÁ EØ£zv {ø», AøÚzx EÒÏkPøÍ²® 
TmkQßÓ AÍøÁ Âh, EØ£zv AÍÄ SøÓ¢u ÂQuzvÀ 
AvP›US® ö£õÊx QøhUQßÓx 

(B) The law of increasing returns to scale relates to the effect of 
changes in factor proportion 

 ÁÍº¢x ö\À AÍøÁ EØ£zv {ø», Põμo ÂQu[PÎÀ HØ£k® 
©õØÓ[PÎß ÂøÍÄP÷Íõk öuõhº¦øh¯x 

(C) Linear homogeneous production function means that 
production function is homogeneous of the second degree  

 ÷|º÷Põmk \©¨£izuõÚ EØ£zv \õº¦, C¸£i EØ£zv \õº¦ 
GßQ÷Óõ® 

(D) External economics of scale can accrue only to the exporting 
sector  

 HØÖ©vz xøÓUS ©mk÷© ¦Óa ]UPÚ[PÒ QøhUS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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95. “The marginal rate of substitution of Y for X as amount of Y that 
must be added to offset the loss of one unit of X”, who has stated 
this? 
CÖv {ø» £v½mk Âu® Gß£x X–°ß J¸ A»S CÇUS® ö£õÊx 

Y–°ß A»S TiUöPõs÷h C¸US® C¢u P¸zøu TÔ¯x ¯õº? 

(A) Leftwitch (B) Stigler 

 ö»¨mÂma  ìiUö»º 

(C) Marshall (D) Hicks 
 ©õºåÀ  îUì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. ––––––––––– is associated with ranking of various consumption
bundles. 
–––––––––– £À÷ÁÖ ~PºÄ ö£õ¸mPøÍ £¯ß£õmk Ai¨£øh°À 
uμÁ›ø\ £kzxÁxhß öuõhº¦øh¯x. 

(A) cardinal utility (B) ordinal utility 

 PõºiÚÀ £¯ß£õk  BºiÚÀ £¯ß£õk 

(C) marginal utility (D) total utility 
 CÖv{ø» £¯ß£õk  ö©õzu £¯ß£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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97. ––––––––––– rehabilitated the concept of consumer’s surplus by
approaching it in terms of ordinal utility  function. 
–––––––––– Gß£õº ~Pº÷Áõº Ga\® GßÓ ÷Põm£õmøh ußÝøh¯ J¨¦ø© 
£¯ß£õmk ÷Põm£õmk •øÓ°ß£i ©Ö E¸ÁõUP® ö\´uõº. 

(A) J.R. Hicks (B) Alfred Marshall 

 ÷á.Bº. îUì  BÀ¤μm ©õºåÀ 

(C) Adam smith (D) J.B. Say 
 Bh® ìªz  ÷á.¤. ÷\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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98. Demand curve shows, 
÷uøÁ ÁøÍ÷Põk SÔ¨£x 

(1) Inverse relationship between cost of production of a commodity 
and its quantity demanded 

 ö£õ¸mPÎß EØ£zv ö\»ÂØS®, ÷uøÁUS® uø»RÌ öuõhº¦. 

(2) Direct relationship between price and quantity demanded of a
commodity at a given time. 

 J¸ SÔ¨¤mh Põ»zvÀ ö£õ¸mPÎß Âø»US®, ö£õ¸mPÎß
÷uøÁUS® ÷|μi öuõhº¦ 

(3) Inverse relationship between price and quantity demanded of a
commodity at a given time. 

 J¸ SÔ¨¤mh Põ»zvÀ ö£õ¸mPÎß Âø»US® ÷uøÁUS® uø»RÌ
öuõhº¦ 

(4) Inverse relationship between the rate of exchange in price and
the rate of exchange in quantity demanded 

 Âø»°À HØ£k® ©õØÖ ÂQuzvØS®, ÷uøÁ°À HØ£k® ©õØÖ
ÂQuzvØS® Cøh÷¯ EÒÍ uø»RÌ öuõhº¦ 

(A) (1) alone correct (B) (2) alone correct 

 (1) ©mk® \›  (2) ©mk® \› 

(C) (3) alone correct (D) (4) alone correct 
 (3) ©mk® \›  (4) ©mk® \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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99. If the two goods are used together to satisfy a given want, they are
said to be complimentary good. Example of such goods are 
J¸ ÷uøÁ°øÚ v¸¨v£kzu Cμsk ö£õ¸ÒPøÍ ÷\º¢uõº ÷£õÀ 
£¯ß£kzxÁuØS xøn¯õÚ ö£õ¸ÍõS®. AÆÁøP¯õÚ ö£õ¸mPÎß 
Euõμn®? 

(A) Car and Petrol (B) Milk and Sugar 

 Põº ©ØÖ® ö£m÷μõÀ  £õÀ ©ØÖ® \ºUPøμ 

(C) Tea and Coffee (D) Ink pen and Refill pen 
 ÷uÜº ©ØÖ® Põ¤  ø© ©ØÖ® ©ÖAøh¨£õß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

100. The concept of elasticity is actually borrowed from 
ö|QÌa] GßÓ P¸zx G¢u C¯¼À C¸¢x ö£Ó ö£ØÓx 

(A) Mathematics (B) Economics  
 Pou®  ö£õ¸Î¯À 

(C) Physics (D) Chemistry 
 C¯Ø¤¯À  ÷Áv°¯À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. Demand curve always slopes –––––––––––– from left to right. 
÷uøÁÁøÍÄ ÷Põk G¨ö£õÊx® –––––––––––– BP Chx ¦Ózv¼¸¢x 
Á»x¦Ó©õP C¸US®. 

(A) Upward (B) Downward 

 RÈ¸¢x ÷©»õP  ÷©¼¸¢x RÇõP 

(C) Forward (D) Backward 
 •ß÷ÚõUQ  ¤ß÷ÚõUQ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. Assertion : The entire Marshallian utility analysis is based on the
cardinal measurement of utility.  

Reason :  Utility cannot be measured cardinally because utility 
which a commodity possesses is subjective and 
psychological.  

TØÖ :  ©õºå¼ß £¯ß£õmk £Szuõ´Ä ö£õ¸Ò \õº £¯ß£õmk 
AÍÃ÷hõk öuõhº¦øh¯x. 

Põμn® : £¯ß£õk AÍÂh •i¯õx HöÚÛÀ £¯ß£õk Gß£x J¸ 
ö£õ¸Ò \õº¢u AP» {ø» ©ØÖ® EÍÂ¯À \õº¢ux. 

(A) (A) is True (R) is False   
 (A) \› (R) uÁÖ 

(B) Both (A) and (R) are True, (R) is the correct explanation of (A)  
 (A) ©ØÖ® (R) \›, (R) Gß£x (A) °ß \›¯õÚ ÂÍUP® 

(C) (A) is False (R) is True 
 (A) uÁÖ (R) \›  

(D) Both (A) and (R) are True but (R) is not explanation of (A) 
 (A) ©ØÖ® (R) \› BÚõÀ (R) Gß£x (A) °ß \›¯õÚ ÂÍUP® AÀ»

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. “Economics is that body of knowledge which is related to wealth” is
given by 
ö£õ¸Î¯À, ö\ÀÁ C¯¾hß öuõhº¦øh¯x GßÓ P¸zx\õº AÔÄøh¯x 
GÚ TÔ¯Áº 

(A) J.E. Cairnes (B) J.B. Say 

 ÷á.D. öP´μßì  ÷á.¤. ÷\ 

(C) F.A Walkar (D) J.M. Keynes 
 G¨.G. ÁõUPº  ÷á.G®. Rßì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. “An enquiry into the Nature and causes of wealth of Nations” –
written by 
“|õkPÎß ö\ÀÁ® £ØÔ¯ ußø©²®, Põμn[PÐ®, SÔzu Kº Â\õμøn”
GßÓ ¦zuPzøu GÊv¯Áº. 

(A) Alfred Marshall (B) Adam Smith 

 BÀ¤μm ©õºåÀ  Bh® ìªz 

(C) Lionel Robbins (D) Karl Marx 
 »¯ÚÀ μõ¤ßì  PõºÀ ©õºUì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. “Economics is the study of mankind in the ordinary business of 
Life....” – this definition was given by  
“ö£õ¸Íõuõμ® Gß£x ÁõÌUøP°ß \õuõμn ÁoPzvÀ ©Ûu S»zøu¨ 

£ØÔ¯ B´Ä....” C¢u Áøμ¯øÓ ÁÇ[Q¯x ¯õº? 

(A) Adam Smith (B) Alfred Marshall 

 Bh® ìªz  BÀ¤μm ©õºåÀ 

(C) Lord Robbins (D) Samuvelson 
 »õºm μõ¤ßì  \õ•÷ÁÀ\ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

106. The term Economics is derived from –––––––––––– oikos.  
ö£õ¸Íõuõμ® GßÓ ö\õÀ –––––––––––– ö©õÈ°À C¸¢x E¸ÁõÚx. 

(A) Latin word (B) Greek word 

 »zwß  QŸU 

(C) Russian word (D) Indian word 
 μè¯ß  C¢v¯ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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107. “Economics is what economists do” was defined by 
ö£õ¸Íõuõμ AÔbºPÒ GßÚ ö\´QÓõºP÷Íõ Ax÷Á ö£õ¸Íõuõμ® GÝ® 
Áøμ¯øÓ ¯õμõÀ uμ¨£mhx? 

(A) Adam Smith (B) Beham 

 Bh® ìªz  ö£ßí® 

(C) Marshall (D) Jaccab Viner 
 ©õºåÀ  ÷áUP¨ øÁÚº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. If an hypothesis stand upto all possible tests of time then 
J¸ AÝ©õÚ® Põ» KmhzvÀ C¸UQßÓ GÀ»õ £›÷\õuøÚPøÍ²® 
uõsi {ø»ö£ØÓõÀ ¤ßÚº Ax –––––––––––– GÚ¨£k®. 

(A) It is a tested hypothesis  
 Ax J¸ £›÷\õvUP¨£mh AÝ©õÚ®  

(B) Accepted hypothesis 

 HØÖU öPõÒÍ¨£mh AÝ©õÚ® 

(C) It is a theory  
 Ax J¸ ÷Põm£õk 

(D) It is one another fact 
 Ax ©ØÖö©õÖ J¸ Esø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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109. Which one of the following statement is correct? 
¤ßÁ¸® TØÖPÎÀ Gx \›¯õÚx? 

(A) Deductive method descends from general to the particular  
 ö£õxÁõÚÁØÔ¼¸¢x SÔ¨¤mhÁØÔØS CÓ[Q ö\À¾® •øÓ 

£Szuõ´Ä •øÓ¯õS® 

(B) Inductive methods descends from general to the particular 

 ö£õxÁõÚÁØÔ¼¸¢x SÔ¨¤mhÁØÔØS CÓ[Q ö\À¾® •øÓ 
öuõSzuõ´Ä •øÓ¯õS® 

(C) Deductive method depends on experimentation  
 £Szuõ´Ä •øÓ, £›÷\õuøÚPøÍ Ai¨£øh¯õP öPõshx 

(D) The Inductive method is less time consuming and less 
expensive 

 öuõSzuõ´Ä •øÓ°À ÷|μ•®, ©ØÖ® ö\»Ä® SøÓÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. Compute mode value for the following observation 
60, 10, 20, 30, 40, 50, 30, 70, 30, 80 
RÌPõq® Â£μ[PÐUS •Pk PõsP. 
60, 10, 20, 30, 40, 50, 30, 70, 30, 80 

(A) 80 (B) 50 

(C) 30 (D) 20 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



416–Economics 
 

60

111. Multiple regression means 
£À©õÔ öuõhº¦ ÷£õUS Gß£uß ö£õ¸Ò –––––––––––– BS®. 

(A) Analysing relationship of more than two variables 
 CμskUS ÷©Ø£mh ©õÔPÎß öuõhº¤øÚ B´Áx 

(B) Analysing relationship of more than one variable 

 JßÖUS ÷©Ø£mh ©õÔPÎß öuõhº¤øÚ B´Áx 

(C) Analysing relationship of more than five variables  
 I¢xUS ÷©Ø£mh ©õÔPÎß öuõhº¤øÚ B´Áx 

(D) Analysing relationship of only one variable 
 J÷μ J¸ ©õÔø¯ £ØÔ ©mk® B´Áx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. The Mathematical relationship between one dependent variable and
many Independent variable is 
J¸ uÛ¨£mh \õº¦ ©õÔUS® JßÖUS® ÷©Ø£mh \õμõ ©õÔPÐUS® 
Cøh÷¯ EÒÍ öuõhº¦ Gß£x 

(A) Multiple regression (B) Multiple correlation 

 £» ©õÔ öuõhº¦¨÷£õUS  £» ©õÔ JmkÓÄ 

(C) Partial regression  (D) Partial correlation 
 £Sv öuõhº¦¨÷£õUS  £Sv JmkÓÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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113. If co-efficient of variation of a series is 80% and the standard 
deviation is 16. Find the arithmetic mean 
J¸ öuõh›ß ©õÖ£õmk öPÊ 80% vmh Â»UP® 16 C¸¢uõÀ Auß 
Tmk \μõ\› ©v¨¦  

(A) 20 (B) 34 

(C) 40 (D) 80 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. Which is not the correlation method? 
Gx öuõhº¦PøÍ¨ £iUS® •øÓ¯À»? 

(A) Karl Pearson method (B) Scatter diagram method 

 PõºÀ ¤¯º\Ûß •øÓ  ]uÓÀ Áøμ£h •øÓ 

(C) Step method (D) Spearman method 
 £i •øÓ  ì¤¯º÷©ß •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

115. Coefficient of determination is defined as 
÷u¸® öPÊ Áøμ¯ÖUP¨£kÁx 

(A) 3r  (B) 21 R−  

(C) 21 r+  (D) 2r  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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116. A measure of the average relationship between two variables is
known as 
Cμsk ©õÔPÐUS Cøh°»õÚ \μõ\› EÓÂß AÍÃk –––––––––––– GÚ 
AøÇUP¨£kQÓx. 

(A) Correlation (B) Correlation coefficient 

 öuõhº¦  öuõhº¦ SnP® 

(C) Regression (D) Index Numbers 
 ¤ßÚøhÄ  SÔ±mk GsPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

117. Mean σ3±  covers exactly 
\μõ\› σ3±  vmh Â»UP® EÒÍhUSÁx ö£õ¸zu©õP 

(A) 93.37% items (B) 90% items 

 93.37% E¸¨£iPÒ  90% E¸¨£iPÒ 

(C) 99.9% items (D) 99.73% items 
 99.9% E¸¨£iPÒ  99.73% E¸¨£iPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. “Dispersion is the measure of the variation of the items”, was given 
by 
“£μÄøP GÚ¨£kÁx ö£õ¸mPÎß |hÁiUøP°À AÍÄ øP°ß ©õØÓ® 

BS®” ÷©ØPsh C»UPnzøuU TÔ¯Áº –––––––––––– BÁõº. 

(A) A.L. Bowely (B) Spiegal 

 H.GÀ. ö£Í¼  ì¥UíõÀ 

(C) LR Conner (D) Johni Griffin 
 GÀBº PõºÚõº  áõÛ Q›¨¤ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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119. In a moderately symmetrical distribution, 
ªu©õÚ \©a^º £μÁ¼À 

(A) AM > GM > HM  
 Tmka \μõ\› > ö£¸US \μõ\› > Cø\°øh \μõ\› 

(B) HM > GM > AM 

 Cø\°øh \μõ\› > ö£¸US \μõ\› > Tmka \μõ\› 

(C) GM > AM > HM  
 ö£¸US \μõ\› > Tmka \μõ\› > Cø\°øh \μõ\› 

(D) AM > HM > GM 
 Tmka \μõ\› > Cø\°øh \μõ\› > ö£¸US \μõ\› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

120. The square root of the variance is known as 
©õÖ£õmiß ÁºUP‰»® Gß£x 

(A) Mean deviation (B) Standard deviation 

 \μõ\› Â»UP®  vmh Â»UP® 

(C) Square of mean deviation (D) Root of mean deviation 
 \μõ\› Â»UPzvß ÁºUP®  vmh Â»UPzvß ÁºUP ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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121. ___________ analysis helps to determine the degree of relationship
between variables. 
–––––––––– £Szuõ´Ä ©õÔPÐUQøh÷¯ EÒÍ öuõhº¤øÚ wº©õÛUP 
EuÄQÓx. 

(A) Dispersion (B) Index numbers 

 ]uÓÀ AÍøÁ  SÔ±möhs 

(C) Correlation (D) Averages  
 JmkÓÄ  \μõ\›PÒ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

122. Simple regression analysis only ___________ variables.  
\õuõμn öuõhº¦÷£õUS –––––––––– ©õÔPøÍ ©mk® B´Ä ö\´QÓx. 

(A) One (B) Two 

 JßÖ  Cμsk 

(C) Three (D) Four 
 ‰ßÖ  |õßS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

123. Difference between the value of the Smallest item and the value of
Largest item is   
öPõkUP¨£mh {PÌöÁsPÎÀ/öuõhº Á›ø\°À ªPa]Ô¯ ©v¨¤ØS® 
ªP¨ö£›¯ ©v¨¤ØS® EÒÍ Âzv¯õ\® GÆÁõÖ AøÇUP¨£k®. 

(A) Range (B) Kurtosis 

 Ãa_  umøh 

(C) Moments  (D) Mean 
 {PÌÄ  \μõ\›  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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124. Identify the Mode : 
25, 32, 24, 27, 32, 27, 25, 32, 24, 27, 25, 24, 25 
•Pk : Aøh¯õÍ® PõsP. 

25, 32, 24, 27, 32, 27, 25, 32, 24, 27, 25, 24, 25 

(A) 24 (B) 32 
(C) 25 (D) 27 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. Bar diagram consists of a series of ___________ bars standing on a 
common base.  
ö£õxÁõÚ AizuÍzvÀ, öuõhºa]¯õÚ £møh ÂÍUP¨£h® ––––––––––
ÁiÂÀ C¸US®. 

(A) Circular (B) Square 

 Ámh  \xμ 

(C) Rectangular (D) Oval  
 ö\ÆÁP  }ÒÁmh  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

126. Histogram is one of the methods to explain 
Aø»öÁs ö\ÆÁP¨£h ÁøμÄ •øÓ¯õÚx –––––––––– ÂÍUSÁuØS›¯ 
•øÓPÎÀ JßÓõS®. 

(A) Statistical data (B) Historical data 

 ¦ÒÎ°¯À ¦ÒÎÂ£μ[PÒ   Áμ»õØÖ ¦ÒÎÂ£μ[PÒ 

(C) Political data (D) Population data 
 Aμ]¯À ¦ÒÎÂ£μ[PÒ  ©UPÒöuõøP ¦ÒÎÂ£μ[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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127. ___________ is a diagram in which pictures are drawn to represent
the data. 
¦ÒÎ ÂÁμ[PÒ £h[PÒ ÁiÂÀ SÔ¨¤h¨£mi¸¢uõÀ, AuøÚ –––––––––
GßQ÷Óõ®. 

(A) Pie diagram (B) Bar diagram 

 Ámh ÂÍUP¨£h®  £møh ÂÍUP¨£h® 

(C) Pictogram (D) Component diagram 
 £h ÂÍUP¨£h®  TÖ £møh ÂÍUP¨£h® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

128. The number of sides in a frequency polygon are 
{PÌöÁs £À÷Põn ÂÍUP¨£hzvÀ EÒÍ £UP[PÒ 

(A) more than two (B) more than four 

 CμskUS ÷©À  |õßSUS ÷©À 

(C) four (D) three 
 |õßS  ‰ßÖ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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129. Mention one of the following is not related to primary data? 
¤ßÁ¸ÁÚÁØÔÀ •ußø© uμÄPÐhß öuõhº¤À»õuøu SÔ¨¤hÄ®? 
(i) Direct personal Interviews 
 ÷|μi uÛ¨£mh ÷|ºPõnÀPÒ 

(ii) Indirect oral Interviews 
 ©øÓ•P Áõ´ÁÈ ÷|ºPõnÀPÒ 

(iii) Reports 
 AÔUøPPÒ 

(iv) Official publications  
 AvPõμ¨§ºÁ öÁÎ±kPÒ 

(A) (i), (ii) are correct (B) (iii), (iv) are correct 

 (i), (ii) \›¯õÚøÁ  (iii), (iv) \›¯õÚøÁ 

(C) (i), (iii) are correct (D) (ii), (iv) are correct 
 (i), (iii) \›¯õÚøÁ  (ii), (iv) \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. The measures that are observed and recorded as part of an original
study is called 
A\À B´Âß J¸ £Sv¯õP Tº÷|õUS ©ØÖ® £vuÀ BP AÍÂkuÀ 

(A) Primary data  

 •uÀ{ø» uPÁÀPÒ (Â£μ[PÒ)   

(B) Raw data  
 ‰» uPÁÀPÒ (Â£μ[PÒ) 

(C) Secondary data  
 Cμshõ®{ø» uPÁÀPÒ (Â£μ[PÒ)    

(D) Internal data  
 AP{ø» uPÁÀPÒ (Â£μ[PÒ)  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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131. Statistical Estimates are made according to the following standards.
¦ÒÎ°¯À ©v¨¥k RÌUPsh uμzvß£i ö\´¯¨£kQÓx. 

(A) Accurate (B) Perfect 

 xÀ¼¯©õÚ  SøÓ¯ØÓ 

(C) Reasonable (D) Exact  
 {¯õ¯©õÚ  \›¯õÚ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. Data classification is the process of  
¦ÒÎÂÁμ ÁøP¨£õk Gß£x –––––––––– ö\¯À {PÌÁõS®. 

(A) Arranging the data  

 ÂÁμ[PøÍ JÊ[S£kzx®    

(B) Ascending order of data  
 ÂÁμ[PøÍ HÖÁ›ø\°À Aø©US® 

(C) Descending order of data   
 ÂÁμ[PøÍ CÓ[SÁ›ø\°À Aø©US®   

(D) Ranking of data  
 ÂÁμ[PøÍ uμÁ›ø\£kzx®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   416–Economics 
  [Turn over 

69

133. DIC stands for 
DIC&ß Â›ÁõUP® 

(A) Disassembled Industries Centre  

 ¤›UP¨£mh öuõÈÀ ø©¯®   

(B) District Industries Centre 
 ©õÁmh öuõÈÀ ø©¯® 

(C) District Industries Collaboration   
 ©õÁmh öuõÈÀ Tmhø©¨¦   

(D) Developing Industries Centre  
 ÁÍº¢xÁ¸® öuõÈÀ ø©¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

134. The largest rail route in India is  
C¢v¯õÂß ªP¨ö£›¯ Cμ°À £õøu Gx 

(A) Dibrugarh to Kanyakumari  

 v¨¸PõºU •uÀ PßÛ¯õS©› Áøμ   

(B) Kashmir to Bangalore 
 Põè«º •uÀ ö£[PÑº Áøμ 

(C) Mizoram to Gujarat   
 ª÷\õμ® •uÀ Sáμõz Áøμ   

(D) Maharashtra to Manipur  
 ©íõμõèiμõ •uÀ ©o¨§º Áøμ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. Railway passenger coaches are manufactured at  
μ°À £¯oPÒ ö£miPÒ G[S u¯õ›UP¨£kQßÓÚ. 

(A) Perambur (B) Varanasi 

 ö£μ®§º  Áõμnõ] 

(C) Chittaranjan (D) Kolkatta  
 ]zuμg\ß  öPõÀPzuõ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

136. ___________ is used as Inland waterways. 
Gx EÒ|õmk }ºÁÈ¨÷£õUSÁμzvØS EP¢ux? 

(A) Ponds (B) Lakes 

 SÍ®  H›PÒ 

(C) Sea (D) Canals  
 PhÀ  PõÀÁõ´  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

137. Hindustan Shipyard Limited is located at 
C¢xìuõß P¨£À ¯õºk ¼ªöhm G[S Aø©¢xÒÍx. 

(A) Kochi (B) Mumbai 

 öPõa]  •®ø£ 

(C) Vishakapatnam  (D) Chennai  
 Â\õP£miÚ®  ö\ßøÚ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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138. Mention the name of the fastest mode of transport in India. 
C¢v¯õÂÀ ÷ÁP©õÚ ÷£õUSÁμzx •øÓ°ß ö£¯øμ SÔ¨¤k® 

(A) Highways (B) Airways 

 ö|kg\õø»  ÁõßÁÈ 

(C) Waterways (D) Railways  
 }ºÁÈ  Cμ°À ÷£õUSÁμzx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. How many International Airports are operating in India? 
C¢v¯õÂÀ GzuøÚ \ºÁ÷u\ Â©õÚ{ø»¯[PÒ ö\¯À£kQßÓÚ? 

(A) 46 (B) 28 

(C) 34 (D) 41 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

140. Name the smallest airport in India. 
C¢v¯õÂß ªPa ]Ô¯ Â©õÚ {ø»¯® Gx? 

(A) Lengpai Airport (B) Trichy Airport 

 ö»[£õ´ Â©õÚ {ø»¯®  v¸a] Â©õÚ {ø»¯® 

(C) Yavatmal Airport (D) Bagdogra Airport 
 ¯Áz©À Â©õÚ {ø»¯®  £õU÷hõUμõ Â©õÚ {ø»¯®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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141. Expand MPCE 
MPCE – Â›ÁõUP® u¸P. 

(A) Monthly Per Capita Expenditure 
 ©õuzvß \μõ\› ö\»Ä 

(B) Minimum Per Capita Expenditure 

 SøÓ¢u£m\ \μõ\› ö\»Ä   

(C) Maximum Per Capita Expenditure 
 AvP£m\ \μõ\› ö\»Ä 

(D) Moderate Per Capita Expenditure 
 ªu©õÚ \μõ\› ö\»Ä   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

142. The per day calorie estimate of poverty for urban people is  
|Pº¦Ó ©UPÎß ÁÖø©°ß J¸ |õÎß P÷»õ› ©v¨¥k GÆÁÍÄ 

(A) 2400 (B) 2300 

(C) 2200 (D) 2100 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

143. The members of National Arbitration Promotion Board are 
÷u]¯ öuõÈ»õÍº \©μ\ ÷©®£õmk Áõ›¯ EÖ¨¤ÚºPÒ 

(A) Worker (B) Government representative
 EøÇ¨£õÍºPÒ  Aμ]ß ¤μv{vPÒ 

(C) Judicial representative (D) Both (A) and (B) 
 }vzxøÓ ¤μv{vPÒ  (A) ©ØÖ® (B) Cμsk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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144. The year in which the National Rural Employment Guarantee
Scheme as named Mahatma Gandhi National Rural Employment
Guarantee Scheme 
÷u]¯ FμP ÷Áø»Áõ´¨¦ EÖvzvmh® ©Põz©õ Põ¢v ÷u]¯ FμP 
÷Áø»Áõ´¨¦ EÖvz vmh® GÚ ö£¯º ©õØÓ® ö\´¯¨£mh Bsk 

(A) 2005 (B) 2006 

(C) 2009 (D) 2011 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. Which is to increase the wage earning capacity of workers and
artisans and to contribute to increase the growth rate of rural and 
urban employment 
©zv¯ Aμ]ß öuõÈ»õÍºPÒ ©ØÖ® øPÂøÚbºPÎß \®£õvUS® vÓøÚ 
AvP›¨£x, Qμõ©¦Ó ©ØÖ® |Pº¦Ó ÷Áø»Áõ´¨¤ß ÁÍºa] ÂQuzøu 
AvP›US® vmh©õÚx 
(A) PMEGP (Prime Ministers Employment Generation 

Programme) 
 ¤μu© ©¢v›°ß ÷Áø» Áõ´¨¦ E¸ÁõUS® vmh® (PMEGP)   
(B) RLEGP (Rural Landless Employment Guarantee Programme)  
 Qμõ©¨¦Ó {»ªÀ»õ öuõÈ»õÍºPÐUS ÷Áø» EzvμÁõu vmh® 

(RLEGP) 
(C) TRYSEM (Training Rural Youth for Self Employment 
 Qμõ©¨¦Ó CøÍbºPÐUPõÚ _¯ ÷Áø»Áõ´¨¦ vmh® (TRYSEM) 
(D) Swarna Jayanthi Shahari Rozgar Yogna 
 ìÁºn öá¯¢v \Põ› ÷Áø»Áõ´¨¦ vmh® 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

146. Sampoorna Grameen Rozgar Yojana (SGRY) was launched in the
year ————  
\®§ºn Qμõªß ÷μõäPº ÷¯õáÚõ (SGRY) öuõh[P¨£mh Bsk 
(A) 2006 (B) 2001 

(C) 1989 (D) 1997 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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147. The Government has announced the launching of a scheme named
“Annapurna” to provide food security to 
––––––––––– AÁºPÐUS EnÄ £õxPõ¨ø£ ÁÇ[SÁuØPõP AßÚ§ºnõ 
GßÓ vmhzøu öuõh[SÁuõP Aμ\õ[P® AÔÂzux. 

(A) Indigent Senior Citizens (B) Pregnant Women 

 BuμÁØÓ ‰zu Si©UPÒ  Pº¨¤o ö£sPÒ 

(C) Poor Households (D) Widows 
 HøÇ Sk®£[PÒ  ÂuøÁPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. The state with the highest population growth rate in India as per
2021 census is 
2021 ©UPÒ öuõøP PnUöPk¨¤ß£i C¢v¯õÂÀ AvP ©UPÒ öuõøP 
ÁÍºa] EÒÍ ©õ{»® Gx? 

(A) Meghalaya (B) Kerala 

 ÷©Põ»¯õ  ÷PμÍõ 

(C) Karnataka (D) Nagaland 
 Pº|õhP®  |õP»õ¢x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

149. Mention the important Age structure for demographic dividend. 
©UPÒöuõøP ¤›ÄUPõÚ •UQ¯©õÚ Á¯x Aø©¨ø£ SÔ¨¤kP. 

(A) 0-14 (B) 15-59 

 0-14  15-59 

(C) 0-14 and Above 60 (D) Above 61 
 0-14 ©ØÖ® 60 Á¯vØS ÷©À  61 Á¯vØS ÷©À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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150. In India the sick industrial companies act was enacted in the year 
C¢v¯õÂÀ |¼ÄØÓ öuõÈÀ {ÖÁÚ[PÐUPõÚ \mh® C¯ØÓ¨£mh 
Bsk 

(A) 1975 (B) 1985 

(C) 1990 (D) 1991 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

151. In 1977 ———— public sector unit was established in Tamilnadu. 
1977 &À ––––––––––– ö£õxxøÓ {ÖÁÚ® uªÌ|õmiÀ {ÖÁQUP¨£mhx. 

(A) Bharat Heavy Electricals Ltd, Ranipet 
 £õμz ªSªß {ÖÁÚ® ¼ªöhm, μõo÷£møh 

(B) Heavy Vehicles Factory, Avadi 

 PÚμP Fºv EØ£zv {ÖÁÚ®, “BÁi   

(C) Steel Authority of India, Salem 
 C¢v¯ C¸®¦ GLS EØ£zv {ÖÁÚ®, ÷\»® 

(D) Neyveli Lignite Corporation, Neyveli 
 ö|´÷Á¼ £Ê¨¦{»UP› PÇP®, ö|´÷Á¼  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. The Integral Coach Factory (ICF) was established in Perambur
Tamilnadu during 
uªÌ|õk ö£μ®§›À EÒÍ J¸[Qøn¢u μ°Àö£mi öuõÈØ\õø» (ICF) 
{ÖÁ¨£mh Bsk 

(A) 1947 (B) 1960 

(C) 1955 (D) 1965 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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153. Malthusian theory of population is based on 
©õÀyêß ©UPÒöuõøPU ÷Põm£õmkUS CuøÚ Ai¨£øh¯õP öPõshx

(A) Harmonic progression of population 
 ©UPÒöuõøP°ß CnUP©õÚ AvP›¨¦ 

(B) Geometric progression of food production 

 EnÄ EØ£zv ö£¸UPÀ ÂQuzvÀ AvP›¨¦   

(C) Arithmetic progression of population 
 ©UPÒöuõøP TmhÀ ÂQuzvÀ AvP›¨¦ 

(D) Geometric progression of population 
 ©UPÒöuõøP ö£¸UPÀ ÂQuzvÀ AvP›¨¦   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

154. In which year paper gold was approved under the scheme of SDR? 
]Ó¨¦ Gk¨¦ E›ø© (SDR) °À ö£õxÁõÚ u[P PõQu £nz vmhzøu 
öuõh[P AÝ©v AÎzu Bsk? 

(A) 1967 (B) 1969 

(C) 1974 (D) 1977 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. Which is the second institution of GATT? 
E»P Áõo£ ö£õx J¨£¢uzvß 2&Áx {ÖÁÚ®? 

(A) IBRD (B) WTO 

(C) ITO (D) IMF 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   416–Economics 
  [Turn over 

77

156. The credit from IMF to correct temporary inequalities in the
Balance of payments of member nations is 
uØPõ¼P A¯À|õmk ö\¾zx{ø» \©ªßø©ø¯ \›ö\´¯ £ßÚõmk 
£n{v¯® EÖ¨¦ |õkPÐUS ÁÇ[S® Phß Gß£x 

(A) Basic Credit Facility 
 Ai¨£øh Phß Á\v  

(B) Extended Fund Facility 

 Â›ÁõUP¨£mh {v Á\v   

(C) Compensatory Financing Facility 
 Dkö\´ {v Á\v 

(D) Buffer Stock Facility 
 uõ[Q¸¨¦ Á\v   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. 6th WTO ministerial conference was held on 
––––––––––– E»P ÁºzuP Aø©¨¤ß 6Áx ©¢v› {ø» ©õ|õk |øhö£ØÓx

(A) 9-13 Dec 2005, Singapore (B) 30 Nov 2005, Geneva 

 9-13 i\®£º 2005, ][P¨§º  30 |Á®£º 2005, öáÛÁõ 

(C) 13-18 Dec 2005, Hong Kong (D) 14-19 Nov 2005, Doha 
 13-18 i\®£º 2005, B[Põ[  14-19 |Á®£º 2005, ÷hõíõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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158. Assertion [A] : The WTO was established for the purpose of
monitoring rules for international trade in goods
and services. 

TØÖ [A]   :  £sh[PÒ ©ØÖ® £oPÒ öuõhº£õÚ \ºÁ÷u\

Áõo£zvß \mh[PøÍ PsPõoUS® ö£õ¸mk WTO 
E¸ÁõUP¨£mhx.  

Reason [R]  : The functions of the WTO include implementing 
and administering WTO agreements regarding the
rules of international trade policy.  

Põμn® [R]  : \ºÁ÷u\ Áõo£U öPõÒøP°ß J¨£¢u[PøÍ
|øh•øÓ£kzxÁx® ©ØÖ® {ºÁõQ¨£x® Ax

öuõhº£õÚ \mh[PøÍ A•À£kzxÁx® WTO &ß 
•UQ¯ £o¯õS®. 

(A) Both [A] and [R] are true 

 [A] ©ØÖ® [R] Cμsk® \› 

(B) Both [A] and [R] are false 

 [A] ©ØÖ® [R] Cμsk® uÁÖ 

(C) [A] is true [R] is false 

 [A] \› [R] uÁÖ  

(D) [A] is false [R] is true 

 [A] uÁÖ [R] \› 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 



   416–Economics 
  [Turn over 

79

159. IMF Quotas are reviewed once in every ––––––––––– years. 
IMF GzuøÚ Bsk J¸ •øÓ £[Rk •øÓ ©õØÔ Aø©UP¨£kQÓx? 

(A) Two years (B) Three years 

 2 Á¸h®  3 Á¸h® 

(C) Four years (D) Five years 
 4 Á¸h®  5 Á¸h® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

160. Protection against free trade means 
uøh¯ØÓ ÁoPzvØS GvμõÚ £õxPõ¨¦ Gß£x 

(A) Protection of production 
 EØ£zvø¯ £õxPõzuÀ   

(B) Domestic industries are to be protected from foreign 
competition 

 A¯À|õmk¨ ÷£õmi°À C¸¢x EÒ|õmkz öuõÈÀPÒ 
£õxPõUP¨£kQßÓÚ   

(C) Stability of price level 
 {ø»¯õÚ Âø» AÍÄ  

(D) Encouragement of Economic Development 
 ö£õ¸Íõuõμ •ß÷ÚØÓzøu FUSÂzuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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161. United Nations Conference on Trade and Development (UNCTAD)
came to be established as a permanent organisation of the United
Nations on  
IUQ¯ |õkPÎß {μ¢uμ Aø©¨£õP “ÁºzuP® ©ØÖ® ÁÍºa]UPõÚ IUQ¯ 

|õkPÎß ©õ|õk” (UNCTAD) E¸ÁõUP® ö£ØÓx G¨÷£õv¼¸¢x? 

(A) 30th December 1954 (B) 30th December 1964 

 30 i\®£º 1954  30 i\®£º 1964 

(C) 30th December 1974 (D) 30th December 1984 
 30 i\®£º 1974  30 i\®£º 1984 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

162. The main reasons to give subsidies in International Trade is to  
£ßÚõmk ÁõoPzvÀ ©õÛ¯® öPõkUP •UQ¯ Põμn® 

(A) Reduce imports, reduce exports 
 CÓUS©vø¯ SøÓUP, HØÖ©vø¯ SøÓUP 

(B) Increase exports, increase imports  
 HØÖ©vø¯ AvP›UP, CÓUS©vø¯ AvP›UP 

(C) Reduce imports, increase exports 
 CÓUS©vø¯ SøÓUP, HØÖ©vø¯ AvP›UP 

(D) Increase imports, reduce exports 
 CÓUS©vø¯ AvP›UP, HØÖ©vø¯ SøÓUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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163. What is the formula introduced by Viner’s to find out the terms of
trade? 
ÁºzuP Âv•øÓPøÍ PshÔ¯ ÂÚº AÔ•P¨£kzv¯ `zvμ® GßÚ? 

(A) 
PM
Px

Tc =  (B) 
PM

PxQx
Ty =  

(C) Fx
PM
Px

T =1  (D) 
PM
Qx

T =1  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

164. The organisational setting within which individuals, businesses, 
governments and banks buy and sell foreign currencies is referred
as  
uÛ|£ºPÒ, öuõÈÀPÒ, Aμ\õ[P[PÒ ©ØÖ® Á[QPÒ öÁÎ|õmk 
|õn¯[PøÍ Áõ[PÄ® ÂØPÄ® EÒÍ {ÖÁÚ Aø©¨ø£ GÆÁõÖ 
SÔ¨¤kQÓõºPÒ. 

(A) Capital Market (B) Money Market 

 ‰»uÚ \¢øu  £n \¢øu 

(C) Share Market (D) Foreign Exchange Market 
 £[S \¢øu  A¢{¯ ö\»õÁo \¢øu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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165. The total value of a Country’s exports of commodities and total value
of imports of commodities is called 
|õkPÎß HØÖ©v £sh[PÎß ö©õzu ©v¨¦ ©ØÖ® CÓUS©v 
£sh[PÎß ö©õzu ©v¨¦ GÆÁõÖ AøÇUP¨£kQÓx 

(A) Balance of Payment  
 ö\¾zx{ø» C¸¨¦ 

(B) Balance of Trade 

 ö\¾zx{ø» Â¯õ£õμ®   

(C) The capital account  
 •u½mk PnUS  

(D) Balance of equilibrium  
 \©{ø» C¸¨¦   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. When was Foreign Exchange Regulation Act (FERA) passed? 
£ßÚõmk ©õØÖ Âuzøu JÊ[S£kzx® \mh® öPõsk Á¢u Bsk 

(A) 1953 (B) 1963 

(C) 1973 (D) 1983 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. The refund of custom duties paid on import of raw materials is
known as  
‰»¨ö£õ¸mPøÍ CÓUS©v ö\´ÁuØS ö\¾zu¨£k® _[P Á› G¢u 
vmhzvß RÌ v¸¨¤z uμ¨£kQÓx. 

(A) Excise duty exemption  (B) Revenue duty exemption 

 P»õÀ Á› Â»US  Á¸Áõ´ Á› Â»US 

(C) Duty Drawback Scheme (D) Sales Tax exemption  
 Á› v¸®£¨ö£Ö® vmh®  ÂØ£øÚ Á› Â»US 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

168. Difference between the value of visible exports and visible imports is
called  
¦»ÚõPUTi¯ HØÖ©vUS® CÓUS©vUS® EÒÍ Âzv¯õ\® GßÚöÁßÖ 
TÓ¨£k®. 

(A) Current Account Balance (CAB)  
 |h¨¦ PnUS C¸¨¦ 

(B) Balance of Payment (BOP) 

 £ßÚõmk PnUS C¸¨¦ 

(C) Balance of Trade (BOT)  
 ÁºzuP C¸¨¦ 

(D) Capital Account Balance (CAB) 
 ‰»uÚ PnUS C¸¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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169. The modern theory of factor endowments refers to the international
trade was 222 ××  model expounded by  
EØ£zvU PõμoPÎß |ßöPõøh GßÓ |ÃÚ £ßÚõmk ÁºzuPU 
÷Põm£õmøh 222 ××  ©õv›°À ÂÍUQ¯Áº 

(A) David Ricardo (B) Adam Smith 

 ÷hÂm ›UPõº÷hõ  Bh® ìªz 

(C) Heckscher – Ohlin (D) Haberler 
 öíU\º & K¼ß  ÷í£º»º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

170. The rate at which goods of one country are exchanged for that of 
another country is known as  
C¸ |õkPÐUS Cøh°À ö£õ¸Ò HØÖ©vUS® CÓUS©vUS® 
Cøh°»õÚ ÂQu® 

(A) Balance of Trade (B) Balance of payments 

 ÁºzuP \©{ø»  ö\¾zuÀ \©{ø» 

(C) Terms of trade (D) Differences in trade 
 ÁõoP Ãu®  ÁºzuPzvÀ Âzv¯õ\® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. In which year, classical theory of International Trade on the basis of
opportunity cost approach was profounded by Haberler? 
£ßÚõmk öuõßø© ÷Põm£õhõÚ Áõ´¨¦ AhUP ÷Põm£õk ÷í£º»º 
Gß£ÁμõÀ E¸ÁõUQ¯ Bsk Gx? 

(A) 1923 (B) 1933 

(C) 1943 (D) 1953 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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172. According to Haberler, under constant opportunity costs, the
production possibility curve is  
÷í£º»›ß TØÖ¨£i, {ø»¯õÚ Áõ´¨¦ ÁÈa ö\»ÂÀ, EØ£zv Áõ´¨¦ 
ÁøÍ÷PõhõÚx 

(A) Concave to the origin  
 ÷uõØÖÁõ´US SÂÁõP C¸US® 

(B) Straight line connects X and Y axis 

 X Aaø\²® Y Aaø\²® CønUS® ÷|ºU÷PõhõP C¸US®  

(C) Convex to the Origin  
 ÷uõØÖÁõ´US SÈÁõP C¸US® 

(D) Parallel to X axis 
 X Aa_US Cøn¯õP C¸US® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

173. According to Ohlin, factors of production are constrained by the  
Kð¼ß TØÖ¨£i EØ£zvU PõμoPøÍ Pmk¨£kzxÁx 

(A) Labour factor (B) Volume factor 

 £o¯õÍº Põμo  AÍÄ Põμo 

(C) Space factor (D) Cost factor  
 Ch Põμo  ö\»Ä Põμo 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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174. Assertion [A] : Neo-classical economics always insists on stability
of economic growth in an advanced economy.  

TØÖ [A]   :  ¦v¯ öuõßø©¨ ö£õ¸Íõuõμ® G¨÷£õx® ÷©®£mh
ö£õ¸Íõuõμ ÁÍºa]°ß ìvμzußø©ø¯
Á¼²ÖzxQÓx.   

Reason [R]  : In neo-classical economics factor substitutability
assumption always leads to a steady growth. 

Põμn® [R]  : ¦v¯ öuõßø©¨ ö£õ¸ÍõuõμzvÀ, Põμo £v½mk
AÝ©õÚ® G¨÷£õx® J¸ {ø»¯õÚ ÁÍºa]US
ÁÈÁSUQÓx. 

(A) Both [A] and [R] are true and [R] is the correct explanation of 
[A] 

 [A] ©ØÖ® [R] Cμsk® \›, [R] [A] US \›¯õÚ ÂÍUP©õS® 

(B) Both [A] and [R] are true but [R] is not the correct explanation 
of [A] 

 [A] ©ØÖ® [R] Cμsk® \›, BÚõÀ [R] [A] US \›¯õÚ ÂÍUP©À» 

(C) [A] is true but [R] is false 

 [A] \› BÚõÀ [R] uÁÖ 

(D) [A] is false but [R] is true 

 [A] uÁÖ BÚõÀ [R] \› 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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175. Assertion [A] : International Trade is concerned with the
exchange of goods between one country and
another.  

TØÖ [A]   :  £ßÚõmk Áõo£® Gß£x J¸ |õmiØS® ©ØöÓõ¸
|õmiØS® Cøh°»õÚ ö£õ¸mPÎß £›©õØÓzxhß
öuõhº¦øh¯x.  

Reason [R]  : International Trade is a field of economics that 
applies macro economic models to help understand
the International Economy. 

Põμn® [R]  : £ßÚõmk Áõo£® Gß£x ö£õ¸Íõuõμzvß J¸
xøÓ¯õS®. Cx \ºÁ÷u\ ö£õ¸Íõuõμzøu ¦›¢x 
öPõÒÍ EuÄ® ÷£›¯À ö£õ¸Íõuõμ ©õv›PøÍ
£¯ß£kzxQÓx. 

(A) [A] is true, [R] is false 

 [A] \› BÚõÀ [R] uÁÖ 

(B) Both [A] and [R] are true and [R] is the correct explanation of 
[A] 

 [A] ©ØÖ® [R] Cμsk® \›, ÷©¾® [R] Gß£x  [A] ÂØPõÚ \›¯õÚ 
ÂÍUP® 

(C) [A] is false, [R] is true 

 [A] uÁÖ BÚõÀ [R] \› 

(D) Both [A] and [R] are true and [R] is not the correct 
explanations of [A] 

 [A] ©ØÖ® [R] Cμsk® \›, ÷©¾® [R] Gß£x [A] ÂØPõÚ \›¯õÚ 
ÂÍUP©À» 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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176. Who has profounded the theory of Absolute difference in cost? 
•Êø©¯õÚ AhUP ©õÖ£õk ö\»Ä ÷Põm£õmøh Aø©zuÁº ¯õº? 

(A) David Ricardo (B) Adam Smith 

 ÷hÂm ›UPõº÷hõ  Bh® ìªz 

(C) J. S. Mill (D) Marshall 
 J. S. ªÀ  ©õºåÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

177. The originating forces (or) starters – where these words used in the 
stage of Trade cycle is  
Áõo£ _ÇØ] £Sv°À ‘öuõhUP AÊzu[PÒ’ AÀ»x ‘öuõh[S£ÁºPÒ’
GßÓ Áõºzøu G¢u {ø»°À £¯ß£kzu¨£kQÓx. 

(A) Prosperity (B) Recovery 

 ©»ºa]  «ÊuÀ 

(C) Depression (D) Recession 
 ©¢u®  ¤ßÁõ[PÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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178. Which statement is correct to the equation of MV = PT ? 

G¢u ÁõUQ¯® MV = PT GßÓ \©ß£õmkhß \›¯õP ö£õ¸¢u Ti¯x? 

(A) If M is doubled, leaving V and T unaffected then P must 
double  

 ‘M’ Cμmi¨¦ GßÓõÀ, V öÁÎ÷¯Ô ©ØÖ® T £õvUP¨£hõ©À ¤ÓS 

P Pmhn® Cμmi¨¦ 

(B) If M is doubled, leaving V unaffected then P will be halved  

 ‘M’ Cμmi¨¦ GßÓõÀ, V öÁÎ÷¯Ô £õvUP¨£hõ©À ¤ÓS ‘P’
SøÓuÀ 

(C) If M and T are doubled, leaving V unaffected then P will be 
halved 

 ‘M’ ©ØÖ® ‘T’ Cμsk® Cμmi¨¦ GßÓõÀ, V £õvUP¨£hõ©À 

öÁÎ÷¯Ô ‘P’ SøÓuÀ 

(D) If M is doubled V is halved, leaving T unaffected then P gets 
multiplied 3 times 

 ‘M’ Cμmi¨¦ GßÓõÀ, ‘V’ SøÓuÀ ‘T’ £õvUP¨£hõ©À öÁÎ÷¯Ô 

¤ÓS ‘P’ 3 •øÓ ö£¸S® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

179. Who introduced the term multiplier? 
“ö£¸UQ” GßÓ ö\õÀø» AÔ•P® ö\´uÁº ¯õº? 

(A) J. M. Keynes (B) R.F. Kahan 

 ÷á.G®. Rßì  Bº.G¨. Põß 

(C) R.B. Khana (D) R.J.D. Allen  
 Bº.¤. PõÚõ  Bº.÷á.i. B»ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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180. Liquidity preference refers to the desire of the people to hold money 
in the form of  
}ºø© Â¸¨£® Gß£x ©UPÒ £nzøu AÁºPÒ øP°À _________

ÁiÁzvÀ øÁzxUöPõÒÍ Â¸®¦ÁuõS®. 

(A) Liquidity cash (B) Bank deposits 

 }ºø© £n®  Á[Q øÁ¨¦zöuõøP 

(C) Share and securities  (D) All of these  
 £[S ©ØÖ® £zvμ[PÒ  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

181. ––––––––––– is caused by a sharp change in the price of important 
commodity. 
ªP CßÔ¯ø©¯õu £shzvÀ HØ£k® ö£¸® Âø» ©õØÓ® CuØS 
Põμn©õQÓx. 

(A) Supply Shock (B) Demand Shock 

 AÎ¨¦ Avºa]  ÷uøÁ Avºa] 

(C) Money Shock (D) Normal Shock 
 £n Avºa]  \õuõμn Avºa] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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182. “Keynes Consumption function” a useless and illegitimate concept” 
was said by  
“Rß]ß ~PºÄ \õº¦ J¸ £¯ß£õhØÓx ©ØÖ® •øÓ¯õÚ ÁøP¯õÚuÀ»” 
GÚ TÔ¯Áº 

(A) Prof. Paul Swuzy (B) Prof. Hazlitt 

 ÷£μõ. £õÀ ì_Â]  ÷£. íì¼m 
(C) Dr. Klein (D) Alfred Marshall 
 hõUhº. öP¼ß  BÀ¤μm ©õºåÀ 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

183. State the incorrect equation of consumption function. 
~Pº÷Áõº ÷Põm£õk \©ß£õkPÎÀ Gx uÁÓõÚuõP EÒÍx Gß£øu 
SÔ¨¤hÄ®. 

(A) C = F(Y) (B) APC = C/Y 

(C) 
ΔY

CΔMPC =  (D) S = Y+C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

184. When does the propensity to consume (or) the consumption function 
more or less stable? 
~PºÄ |õmh® AÀ»x ~PºÄ \õº¦ HÓUSøÓ¯ {ø»¯õÚx – G¨÷£õx? 

(A) In the long run  

 }sh Põ»zvÀ  

(B) In the short run 
 SÖQ¯ Põ»zvÀ 

(C) Both (A) and (B) correct  
 (A) ©ØÖ® (B) \›  

(D) Neither (A) nor (B) 
  (A) ©ØÖ® (B) Cμsk® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



416–Economics 
 

92

185. “Too much money chasing too few goods”. This definition was given
by 
“AvP AÍÄ¨£n® SøÓ¢u AÍÄ¨ ö£õ¸mPøÍ ÂμmkQÓx” GßÓ 
C»UPnzøu ÁSzuÁº 

(A) Keynes (B) Pigou 

 Rßì  ¤S 

(C) Coulbourn (D) Crowther 
 PõÀ£õºß  QöμÍuº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. Identify the correct chronological order of the following : 
¤ßÁ¸ÁÚÁØÔß  \›¯õÚ Põ»Á›ø\ø¯ Aøh¯õÍ® PõnÄ®. 

1. Keynes Consumption function 
 Rßì ~PºÄ \õº¦ 

2. Life cycle hypothesis 
 ÁõÌUøP _ÇØ] P¸x÷PõÒ 

3. Relative income hypothesis 
 \õº¦ Á¸Áõ´ P¸x÷PõÒ 

4. Friedman’s permanent income hypothesis 
 L¨Ÿm÷©Ûß {μ¢uμ Á¸©õÚ® P¸x÷PõÒ 

(A) 4, 2, 1, 3 (B) 2, 1, 3, 4 

(C) 1, 3, 4, 2 (D) 3, 4, 2, 1 

 (E) Answer not known 
 Âøh öu›¯ÂÀø» 
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187. )( MXGICY −+++=  is 
)( MXGICY −+++=  Gß£x 

(A) An identity (B) A formula 

 J¸ Aøh¯õÍ SÔ±k  J¸ `zvμ® 

(C) An equation (D) A function 
 J¸ \©ß£õk  J¸ \õº¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. The Sunspot Theory of Trade Cycle was introduced by 
`›¯ GÊa] ÁoPa_ÇÀ ÷Põm£õmiøÚU TÔ¯Áº 

(A) Kaldor (B) Keynes 

 PõÀhõº  Rßì 

(C) Marx (D) Jevon 
 ©õºUì  öáÁß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

189. Marginal propensity to consume (MPC) is equal to 
CÖv{ø» ~PºÄ |õmh® Gß£x 

(A) Y
CMPC =  (B) 

ΔY
CΔ

MPC =  

(C) 
ΔY

SΔ
MPC =  (D) Y

SMPC =  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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190. The entrepreneur estimates the Marginal efficiency of capital assets
by taking into account 
J¸ öuõÈÀ•øÚ÷Áõº CÖv{ø» ‰»uÚ vÓøÚ ©v¨¥k ö\´¯ 
PÁÚzvÀ öPõÒÁx 

(A) Supply price  

 AÎ¨¦ Âø»   

(B) Prospective yield 
 Jmkö©õzu (A) }shPõ» v¸¨£® 

(C) (A) and (B) correct  

 (A) ©ØÖ® (B) \› 

(D) Neither (A) nor (B) 
 (A) ©ØÖ® (B) Cμsk® CÀø»   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

191. GDP by expenditure method at market prices will be 
ö\»ÂÚ •øÓ¨£i GDP A[Põi Âø»°À Gß£x 

(A) M)(XGIC −+++  (B) M)(XGIC ++++  

(C) GIC ++  (D) M)(XIC −++  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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192. In which method, factor cost is used to calculate National Income? 
÷u]¯ Á¸Áõ´ PnURmiÀ Põμo ö\»øÁ PnUQÀ Gkzx öPõÒÁx G¢u 
•øÓ°À? 

(A) Expenditure method (B) Income method 

 ö\»Ä •øÓ  Á¸Áõ´ •øÓ 

(C) Production method (D) All of the above 
 EØ£zv •øÓ  ÷©÷» TÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. Percapita Income will increases when 
u»õ Á¸©õÚ® AvP›US® ÷£õx 

(A) Population growth is high 

 ©UPÒ öuõøP ÁÍºa] AvP®   

(B Rate of growth national income is high 
 ÷u]¯ Á¸©õÚzvß ÁÍºa] ÂQu® AvP®  

(C) Population growth is low  
 ©UPÒ öuõøP ÁÍºa] SøÓÄ 

(D) Both (B) and (C) 
 (B) ©ØÖ® (C) Cμsk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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194. In the short run, the aggregate supply curve is 
SÖQ¯ Põ»zvÀ, öuõS AÎ¨¦ ÁøÍ÷Põk CÆÁõÓõP C¸US® 

(A) Vertical (B) Flat 

 ö\[SzuõP  Qøh©mh©õP 

(C) Curved (D) U–Shaped 
 ÁøÍÁõÚ  U – ÁiÂ»õÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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195. Find out the correct statement from the statements given below 
RÌPsh TØÖPÐÒ G¢öu¢uU TØÖPÒ \›¯õÚøÁ Gß£øuU SÔ¨¤kP. 

(i) Ragnar Frisch was the first to use Micro and Macro economics
 ÷μUÚº ¤›Uì Gß£Áº uõß •uß •u¼À ~so¯À ©ØÖ® 

÷£›¯À ö£õ¸Íõuõμ® GßÓ ÁõºzøuPøÍ¨ £¯ß£kzvÚõº 

(ii) Macro economics deals with individuals  
 ÷£›¯À ö£õ¸Íõuõμ® uÛ©ÛuºPøÍ Bμõ²® 

(iii) Micro economics is based on the assumptions of Laissee faire 
 ~so¯À ö£õ¸Íõuõμzvß Ai¨£øh°ß TØÖ Põμn Põ›¯[PÒ 

uø»°hõø© 

(iv) Macro economics explains about the Decision making of a firm
 ÷£›¯À ö£õ¸Íõuõμ® uÛ{ÖÁÚzvß •iöÁkzuø»U TÖ® 

(A) (i) and (iii) are correct  

 (i) ©ØÖ® (iii) TØÖPÒ \›¯õÚøÁ 

(B) (ii) and (iv) are correct 

 (ii) ©ØÖ® (iv) TØÖPÒ \›¯õÚøÁ   

(C) (ii) and (iii) are correct  

 (ii) ©ØÖ® (iii) TØÖPÒ \›¯õÚøÁ 

(D) (i) and (ii) are correct 
 (i) ©ØÖ® (ii) TØÖPÒ \›¯õÚøÁ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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196. Global Economic Crisis started in  
E»PÍõÂ¯ ö£õ¸Íõuõμ B£zx{ø» C¢u BsiÀ  E¸ÁõÚx 

(A) 2008 (B) 2010 

(C) 1990 (D) 2000 

 (E) Answer not known 
 Âøh öu›¯ÂÀø» 

197. Aggregative Economics is also known as 
öuõS¨¦ ö£õ¸Íõuõμzøu C¨£i²® AøÇUP»õ® 

(A) Micro Economics (B) Macro Economics 

 ~soÚ¨ ö£õ¸Íõuõμ®  ÷£›¯À ö£õ¸Íõuõμ® 

(C) Monetary Economics (D) Environmental Economics 
 £nÂ¯À ö£õ¸Íõuõμ®  _ØÖa`ÇÀ ö£õ¸Íõuõμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. The total market value of all final goods and services produced in
the country in a year is called 
KμõsiÀ, |õmiÀ EØ£zv ö\´¯¨£k® £sh® ©ØÖ® £oPÎß ö©õzu 
\¢øu ©v¨¦ CxöÁßÖ AøÇUP¨£kQÓx – Gx? 

(A) entrepreneurs income (B) consumers income 

 öuõÈÀ•øÚ÷Áõ›ß Á¸©õÚ®  ~Pº÷Áõ›ß Á¸©õÚ® 

(C) national income (D) producers income 
 ÷u]¯ Á¸©õÚ®  EØ£zv¯õÍºPÎß Á¸©õÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   416–Economics 
  [Turn over 

99

199. The length of time until a bond expires is called as 
J¸ £zvμ® •vºÁøhQÓ Põ»® Áøμ°»õÚ CøhöÁÎ ––––––––––– BS®.

(A) Maturity of bond  
 £zvμ •vºÄ Põ»® 

(B) Maturity of Deposit 

 øÁ¨¦ •vºÄ Põ»® 

(C) Maturity of insurance payment  
 Põ¨¦Öv ö\¾zxøP •vºÄ Põ»® 

(D) Maturity of Production 
 EØ£zv •vºÄ Põ»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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200. Percapita Income is 
u»õ Á¸Áõ´ Gß£x 

(A) 
IncomeNational

PopulationTotal
  

 
IncomeNational

PopulationTotal
 

(B) 
PopulationTotal 

IncomePersonal  

 
IncomeNational

PopulationTotal
   

(C) 
IncomePersonal

PopulationTotal
  

 
IncomeNational

PopulationTotal
  

(D) 
PopulationTotal 

IncomeNational
 

 
IncomeNational

PopulationTotal
 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

––––––––––– 

ö©õzu ©UPÒ öuõøP

|õmk Á¸Áõ´ 

uÛ|£º Á¸Áõ´ 

ö©õzu ©UPÒ öuõøP

|õmk Á¸Áõ´ 

ö©õzu ©UPÒ öuõøP

ö©õzu ©UPÒ öuõøP

uÛ|£º Á¸Áõ´ 


